et EXO0

B4 ERHPEREEGRR/

b —

F5H—

HREHEIE--BR: 2F (KREE:2F->2F)

PNA21-01-#&/8: 2F , #4t5R: C34, RIEFFHR: 43 [X9:+155,Y17:-165] R~F: 90 cm * 80 cm , 45 380.0 cm

#10 FH(E1HE-—ARRE): (380+0)*18/100 68.40
| FH+HEE(Lg)(FBE
[#E#=0])
#4 SMER- £ T i 5\ = (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
g £ THEEE= Int(((380-75)/2)/10.0)+1=16
£ T R= 335.816/100=53.72 M
#4 SME - R 5\ E (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
[; rh SR 5B B8= Int(((380-75)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 sMER-BRE 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEBEHRE-KERE | XCOKPE)MEE(F )= (90-2*[{RERE]4+2*[135E E4$7]13.9)
< A *2=219.6 .
Y(ZEE)ARE(FH)= (80-2*[{REB]4+2*[135F #4$4]13.9)
*2=199.6
#4 B5- LT #4_F T B 8= Int(((380-75)/2)/10.0)+1=16 67.1
<7 E TR RE= (219.6+199.6)*16/100=67.1 M
#4 B W-h R #4th LI B= Int(((380-75)/2)/15.0)+1=11 46.1
<7 rhRif#E K= (219.6+199.6)*11/100=46.1 M
#4 BH-RERE HARBZEHER=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
EESE:

R ($R1)18-#8 ($A2)X-#X
ARBHIH:(HE1)18-#10 (FH2)X-#X
1B E(1)40:10-8*18%%

BT E:

FHEHR:(90+80)*2*380/10000=12.92 M2

HEEEAR RO

%:1i8:-(B24) 45*70/10000=0.32
%:2;:8:-(G34) 50*75/10000=0.38
%:358:-(B25) 45*70/10000=0.32
%:4i%:-(G35) 50*75/10000=0.38
Ll E/NEF:1.38 M2

HEMREEAR MR O BR:

%:1i%:30.00%16/10000=0.0480
%:2i%:40.00%16/10000=0.0640
%:3i%:30.00%16/10000=0.0480
%:4i%:40.00%16/10000=0.0640
LL_E/NEH:0.2240 M2

RS E AR RO PR

E RS 1 (B E)-:B24=15%(380-70)/10000=0.47
E RS 2(FR K )-:B25=15%(380-70)/10000=0.47
Ll E/NEH:0.93 M2
FERRAEET:12.92-[FEER 3T $£]1.38-[#E iR 32 $]0.22- [#E 5 38 $%]0.93=10.39 M2

RC:tH&E:

90*80*380/1000000= 2.736 M3
-------------- FHEER/DNE -

et HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$ArR/NET =0.6922 T
HBAR/NET(E) = 10.39 M2
Estt/NEF =2.736 M3
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PNA21-01-t&f&: 2F , #£L5%: C29, I F5%: 29 [X6:-95,Y10:+220] R~F: 80 cm * 90 cm , #5: 380.0 cm

#8 EH(FE1HR-— AR B): (380+0)*16/100 60.80
| TR (L)
[#&#%=0])
#4 SN R- £ T iR S\ EE(F2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g E THEEZ= Int(((380-75)/2)/10.0)+1=16
Lt THE#EERE= 335.816/100=53.72 M
#4 SV - R SR E(H2)= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh g 45 Bl 4= Int(((380-75)/2)/15.0)+1=11
th e R = 335.8*11/100=36.94 M
#4 SMER- B S\ R E ()= (80+90)*2-8*4+2%13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEBEHRE-KERE | XCOKPE)AEE(FRE)= (80-2*[{RERE]4+2*[135E E4$7]13.9)
<7 A *2=199.6 .
Y(EE)ERE(HHBAE)= (90-2*[{R#[B14+2*[135FE & £7]13.9)
*2=219.6
#4 B5- LT #4_F T B 8= Int(((380-75)/2)/10.0)+1=16 67.1
<7 E TR R= (199.6+219.6)*16/100=67.1 M
#4 M- R #4th RIHE B= Int(((380-75)/2)/15.0)+1=11 46.1
<7 R GHER = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HAR B EHER=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERHE:

EERE(HR1)16-#8 (FH2)X-#X
RERTE:(H1)16-#8 (F2)X-#X
1B (1)40:8-8*16%%
EARETE:
FHEHR:(80+90)*2*380/10000=12.92 M2
HREEEMR
%:1;:8:-(G28) 50*75/10000=0.38
%:2;:8:-(B17) 45*70/10000=0.32
LA E/NEE:0.69 M2
RS R
%:1i£:40.00*16/10000=0.0640
%:4i%£:30.00*16/10000=0.0480
Ll E/NEH:0.1120 M2
SRR R
EHEERE:1(FE SorE ZE):=15%(180-0)/10000=0.27
LA E/NEE:0.27 M2
$§Hﬁ+ﬁ§§+:12.92-[7&1?;@3*&%]0.69-[*1#&3?#%]0.1 1-[#E 4532 $£]0.27=11.85 M2
RCEH&E:
80*90%380/1000000= 2.736 M3
-------------- SHEMERDE -
T EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
AR/ = 04971 T
HRR/NVETH(E) = 11.85 M2
BT /NG =2.736 M3

PNA21-01-#&/8: 2F , #:4t5%: C32, fIEFF5%: 35 [X6:-90,Y18:-8] R~f: 90 cm * 80 cm, & 380.0 cm

#8 EHE1E-—RE): (380+0)*18/100 68.40
| T R (Lo (B IR
0]
#4 SR b T MR (HT)= (90+80)*2-8*4+2+13.89=335.8 53.72
8 L+ THEREIE= Int(((380-70)/2)/10.0)+1=16
+ TiE#E K= 335.8*16/100=53.72 M

th e FE B = Int(((380-70)/2)/15.0)+1=11

#4 @ SV - R S\ (5 2)= (90+80)*2-8*4+2*13.89=335.8 36.94
R fE4E K= 335.8%11/100=36.94 M
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#4 S\ ERs-BRE SR (H )= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
CHEER-KTR,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
<7 = *2=219.6
Y(EE)AREH )= (80-2[{REB14+2*[135EE$7]13.9)
*2=199.6
#4 - Rk #4 b TR ES= Int(((380-70)/2)/10.0)+1=16 67.1
<2 i E= (219.6+199.6)*16/100=67.1 M
#4 B 5-rh R i #Ath R IHFESE= Int(((380-70)/2)/15.0)+1=11 46.1
<7 R iEE E= (219.6+199.6)*11/100=46.1 M
#4 Bi5-BREE HABRZ B R=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
BRI E

EEREH(R1)16-#8 (H2)X-#X
ABHIH:(HB1)18-#8 (fH2)X-#X
B (1)40:8-8*16%
{EERE(2)#E:8- T2
BAREHE:
FHHR:(90+80)*2*380/10000=12.92 M2
HRE AR RO
%:1i2:-(B28) 45*70/10000=0.32
%:2i%2:-(G39) 60*60/10000=0.36
KL E/NET:0.68 M2
FERRGE AR kR A0 R
%:1i£:30.00*16/10000=0.0480
%:2i£:40.00*16/10000=0.0640
KL E/NVEF:0.1120 M2
FENEE AR R A0 R
1 (AR E)-:CS=15%(380-16)/10000=0.55
2 (HR K )-:B28=15*(380-70)/10000=0.47
KL E/NEE:1.01 M2
*EHJ%F.’&;EH2.92-[*1#;%??&]0.68-[7&#&&?%]0.1 1B HE]1.01=11.12 M2
RCETH&E:
90*80*380/1000000= 2.736 M3
-------------- SHEER -
TSR
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
HER/NET = 05274 T
ERR/DEH(E) = 11.12 M2
Bt /NE =2.736 M3

PNA21-01-#£f&: 2F , #EK5%: C32, fIE [F5%: 48 [X10:-175,Y16:-185] R~t: 90 cm * 80 cm, #&: 380.0 cm

#8 ER(E14-—HRE): (380+0)*18/100 68.40
| T+ (Lg) (B
[#&#=0])
#4 S\ AS- £ T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THEEE= Int(((380-75)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SMERR-h R SR EE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8*11/100=36.94 M
#4 SNMERR-BRE SR E ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEHRR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#EB]4+2*[135E & $4]13.9)
<2 ER *2=219.6
Y(EE)E K E(H 4= (80-2*[{R#B]14+2*[135EE E4$5]13.9)
*2=199.6
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#4 B5- £ Tin #4 £ T i#EB= Int(((380-75)/2)/10.0)+1=16 67.1
</ £ TixiER= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh RiHE B = Int(((380-75)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE HARFZEHE R =(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
fEEsTE:

EEAEH(R1)16-#8 (H2)X-#X
AR (H1)18-#8 (H2)X#X
1B EE(1)70:8-8*16%
{EERE(2)#E:8- T2
EARETE:
FHHR:(90+80)*2*380/10000=12.92 M2
SRR
%:1i2:-(B26) 45*70/10000=0.32
%:2i2:-(G31) 50*75/10000=0.38
KL E/NET:0.69 M2
RS AR MR R
%:3i2:30.00*16/10000=0.0480
%:4i2:40.00*16/10000=0.0640
KL ENVEF:0.1120 M2
S AR MR R
T 1 (F EorE ZE):=15%(130-0)/10000=0.20
R 2(F ForE ZE):=15%(210-0)/10000=0.32
KL E/NEE:0.51 M2
*EHJ%:&;EH2.92-[&*&%?&?&]0.69-[7&#&&?%]0.1 1-[#E 832 1%]0.51=11.61 M2
RCETH&E:
90*80*380/1000000= 2.736 M3

T EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
SMAR/INET = 0.5274 T
BRR/NET(E) = 11.61 M2
iEgEE L /NE =2.736 M3

PNA21-01-#&[8: 2F , #1588 C36, fIi& FFoi: 49 [X10:-175,Y17:-165] R~t: 90 cm * 80 cm , ¥ &: 380.0 cm

#10 EHH(E14A-—ARE): (380+0)*20/100 76.00
| T +REE(Lg) (%
[#E#=0])
#4 SV - £ T iR 5\ E (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
E; L+ THEEIE= Int(((380-75)/2)/10.0)+1=16
+ FiE#E K= 335.8*16/100=53.72 M
#4 SN - R 5\ R (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
E; rh SR 5B 88= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8%11/100=36.94 M
#4 HNER-RE 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 23.50
E; (Int(75/10))*335.8/100=23.50 M
BHEHR-KFERE | XOKTF)RREGGRHE)= (90-2*[REE]4+2*[135E &$7]13.9)
< A *2=219.6 ]
Y(EE)ERE(HH4T)= (80-2*[{FHEB14+2* 135 €£40]13.9)
*2=199.6
#4 Bi5- LT #4 & T i BEk= Int(((380-75)/2)/10.0)+1=16 67.1
< L TimfER= (219.6+199.6)*16/100=67.1 M
#4 BRHR-h g #4rh RiG B ER= Int(((380-75)/2)/15.0)+1=11 46.1
<7 rhRif#E K= (219.6+199.6)*11/100=46.1 M
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#4

HARFEME=(219.6+199.6)*Int(75/10)/100= 29.34 M

293

falERa®E:

R 1)18-#8 (FH2)X-#X
ARBA T H:(#01)20-#10 (FH2)X-#X
{EHES8E(1)#0:10-8"18%
EHERE(2)#:10-T2%

RhREtH:

FHHR:(90+80)*2*380/10000=12.92 M2

FERRE AR AR O FR:

%:152:-(B26) 45*70/10000=0.32
55:2i%:-(B27) 45*70/10000=0.32
%5:3i2:-(G34) 50*75/10000=0.38
KL E/NEE:1.01 M2

FERRE BEAR RO BR:

%5:1i£:30.00*16/10000=0.0480
£5:3i£:30.00*16/10000=0.0480
%:4i%:40.00*16/10000=0.0640
Ll E/]vEt:0.1600 M2

FESE AR RO BR:

EIENE 1 (B E)--B27=15*(380-70)/10000=0.47
EIENE 2(BE)--B26=15*(380-70)/10000=0.47
KL E/NVET:0.93 M2
AR AEE:12.92-[#F R 3 HE]1.01-[#E kR X $%]0.16- [ 15 3 $£]0.93=10.83 M2

RCitH&E:

90*80*380/1000000= 2.736 M3

AT EER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)

SMAR/NET = 0.7408 T

RAR/INET(E) = 10.83 M2

EREL /NG =2.736 M3

PNA21-01-#&/8: 2F , #4t5%: C1, LB F5%: 24 [X6:+125,Y3:+175] R~: 80 cm * 90 cm , #£5: 380.0 cm

#8 F (5 1HR-— AR B): (380+0)*18/100 68.40
| T H+REE(Lg) (%
[#E#=0))
#4 sMERR- £ T i 5V R EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g L THEEB4= Int(((380-75)/2)/10.0)+1=16
Lt THE#EERE= 335.8%16/100=53.72 M
#4 S\ - R R 5V R EE (%)= (80+90)*2-8*4+2*13.89=335.8 36.94
E; rh SR 5 B B8= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 S\ - 2R S\ R E ()= (80+90)*2-8*4+2%13.89=335.8 23.50
E; (Int(75/10))*335.8/100=23.50 M
BHEHER-KTERE | XOKE)RREFRE)= (80-2*[{RERE]4+2*[135E E15]13.9)
< A *2=199.6 .
Y(EE)ERE (4= (90-2*[{FHEB14+2*[135F € 45]13.9)
*2=219.6
#4 - LT #4_F T B 8= Int(((380-75)/2)/10.0)+1=16 67.1
<2 E T R= (199.6+219.6)*16/100=67.1 M
#4 R - R % #4th RIGE B= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th QiR = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HAR B EHE R =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3

RS R

EREHETH(E1)16-#8 (FH2)X-#X
ARBHIH:(HE1)18-#8 (FH2)X-#X
TEHERE(1)40:8-8"16%
BEBREQ)ME:8-T2X
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BhRETE:
FHEHR:(80+90)*2*380/10000=12.92 M2
HRE SRR
%:1;:8:-(CG1) 50*70/10000=0.35
%:2;:8:-(G1) 50*75/10000=0.38
%:358:-(B1) 45*70/10000=0.32
KL E/NVET:1.04 M2

RS R
%:158:40.00*16/10000=0.0640
%:358:40.00*16/10000=0.0640
%:458:30.00*16/10000=0.0480
Ll E/hE0.1760 M2

SRR

EHEEE:1(FE SorE ZE):=15%(195-0)/10000=0.29
E RS2 (B E)-:G1=15%(10-10)/10000=0.00

LA E/NEE:0.29 M2

YRR AR ET:12.92-[FE R $£]1.04-[#F hR 32 $10. 18- [#E 15 38 $%]0.29=11.41 M2

RC:tH&E:
80*90*380/1000000= 2.736 M3

Mt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

$AfR/INET = 05274 T
BAR/NEH(E) = 11.41 M2
R /NGt = 2.736 M3

PNA21-01-#&/8: 2F , #:1t5%: C2, fIEF55%: 25 [X6:+125,Y5:+5] R~: 80 cm * 90 cm , #£5: 380.0 cm

#10 F (5 14R-—HEB): (380+0)*18/100 68.40
| T+ (Lg) (B
[#&#%=0])
#4 S\MERR- £ T iR SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-75)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMERR-P R 5\ iE R BE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh J 4 2k= Int(((380-75)/2)/15.0)+1=11
th e fE e K= 335.8*11/100=36.94 M
#4 SN - R 5\ (5 2)= (80+90)*2-8%4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
<7 B *2=199.6 .
Y(EE)ARE )= (90-2 R B]4+2*[135FE #$7]13.9)
*2=219.6
#4 Bip-LTim #4_F T imE28= Int(((380-75)/2)/10.0)+1=16 67.1
<2 F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
EESETE:

LEHEEH:(H1)16-#10 (F2)X-#X
ABREH:(HE1)18-#10 (#H2)X-#X
BI85 (1)#8:10-10716%
EIESRE(2)ME:10- T2
BhARETE:
F 4 hR:(80+90)*2*380/10000=12.92 M2
FERRE R
%:1i8:-(G1) 50*75/10000=0.38
%:2i8:-(G2) 50*75/10000=0.38
%:3i2:-(B3) 45*70/10000=0.32
LLE/NVEE1.07 M2
FERRE R AR BR:
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% :152:40.00"16/10000=0.0640
%:3i£:40.00*16/10000=0.0640
%:4i%£:30.00*16/10000=0.0480
Ll E/NEH0.1760 M2

S E R IO
EHEEE:1(E SorE %E):=15%(210-0)/10000=0.32
E RS2 (B E)-:G1=15%(130-75)/10000=0.08
E RS 3(FRE )-:G2=15%(20-20)/10000=0.00

LA _E/NET:0.40 M2

RRARAEET:12.92-[AF BR 3T $]1.07-[4X kiR 3 $£]0. 18- [#E i 32 $£]0.40=11.28 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3
-------------- R R 0] N C—
Mt ERER

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$ArR/INET = 0.6922 T
BAR/VEH(E) = 11.28 M2
R /NET = 2.736 M3

PNA21-01-#£f&: 2F , #£L5%: C1, (I &

FFaR: 1[X3:-235,Y3:+175] R~: 80 cm * 90 cm , & 380.0 cm

#8 F (5 14R-—HEB): (380+0)*18/100 68.40
| T+ (Lg) (B
[#&#=0])
#4 SMER- L T i SERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-75)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SN - R 55 (F52)= (80+90)*2-8%4+2*13.89=335.8 36.94
@ rh S 8k= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 Y- R 55 (5 2)= (80+90)*2-8%4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEHREKFEME | XOKF)MEEFHRIE)= (80-2 [{REE]4+2*[135E E£]13.9)
</ E[A *2=199.6 .
Y(EE)ARE )= (90-2* (R #B]4+2*[135FE #$7]13.9)
*2=219.6
#4 B - £ T #4 + T i%E 2= Int(((380-75)/2)/10.0)+1=16 67.1
<2 F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh RIFEIEL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R[4 K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
EREIE:

LEEFTE:(HE1)16-#8 (FH2)X-#X

RBAE 5 (H1)18#8 (#A2)XHX

BiE3RE(1)4:8-8*16%

BERE QM- T2X

BhARETE:

F 12 hR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
%:158:-(CG1) 50*70/10000=0.35
%038 -(B2) 45*70/10000=0.32
%:35%:-(G1) 50*75/10000=0.38
LA E/NEF:1.04 M2

FERRE AR R A0 B
%:178:40.00*16/10000=0.0640
££:2%:30.00*16/10000=0.0480
%:378:40.00*16/10000=0.0640
%£:45%:80.00*16/10000=0.1280
L E/NET:0.3040 M2

NS E AR R A0 B

E S 1(BE)-:B2=15%(380-70)/10000=0.47

Page 7/52




EERE:2(F SorE%E):=15*(10-0)/10000=0.02
E I 3(MRUE)-:CS=15%*(380-16)/10000=0.55
E RS 4(RUE)-:CS=15%*(380-16)/10000=0.55
LLE/NET:1.57 M2

RRARHEET:12.92-[A BR 32 ]1.04-[#: hin 32 $]0.30-[#E A& 32 $]1.57=10.00 M2

RC:tHHE:
80*90*380/1000000= 2.736 M3

At EHR:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
$AER/INET = 05274 T
BAR/MEH(E) = 10.00 M2
R /NET = 2.736 M3

PNA21-01-#&[&: 2F , $£1t5E: C6, fiE FH%: 13 [X5:+145,Y3:+175] R~: 80 cm * 90 cm , 4 &: 380.0 cm

#8 F (5 14R-—HEB): (380+0)*20/100 76.00
| T H+ R (Lg) (B
[#&#=0])
#4 SV - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
@ T = Int(((380-75)/2)/10.0)+1=16
T R= 335.816/100=53.72 M
#4 SN - R 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 36.94
B 4 8k= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SN R- R 5\ (5 2)= (80+90)*2-8*4+2*13.89=335.8 23.50
B (Int(75/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135E & £4]13.9)
</ E[A *2=199.6 .
Y(EE)ARE )= (90-2 R #B]4+2* 135 $7]13.9)
*2=219.6
#4 Bi-L T #4 £ T imE 2= Int(((380-75)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh RIFEIEL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRF B R =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERHE:

EREEEIH:(R1)16-#8 (FH2)X-#X

ARBHEIH:(FE1)20-#8 (FH2)X-#X

RS E(1)40:8-8"16%

BEBE(2)M:8-T4%

ARG E:

F 12 hR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
%:158:-(CG5) 50*70/10000=0.35
%:258:-(B1) 45*70/10000=0.32
%5:38:-(G5) 50*75/10000=0.38
%:438:-(B2) 45*70/10000=0.32
Ll E/VEt:1.36 M2

FERRE AR R A0 B
%:178:40.00*16/10000=0.0640
££:2%:30.00*16/10000=0.0480
%:378:40.00*16/10000=0.0640
%:4%:30.00*16/10000=0.0480
LLE/VEE:0.2240 M2

NS E AR R A0 B
BN 1(BE)-:B1=15%(380-70)/10000=0.47
B 2(E)-:B2=15%(380-70)/10000=0.47
LA E/VEH:0.93 M2

AR AEET:12.92-[FE R 3 $5]1.36-[#F iR 32 $10.22- [ 15 38$%]0.93=10.41 M2

RCEH&E:
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80*90*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)
$MAR/NET =0.5576 T
RR/NETH(E) = 10.41 M2
SRR /NET = 2.736 M3

PNA21-01-#&f&: 2F , #5855 C2, SIBFF5%: 2 [X3:-235,Y5:+5] R~: 80 cm * 90 cm , #&: 380.0 cm

#10 FH(FE148-—HRE): (380+0)*18/100 68.40
| g (Lo (B
[#&#%=0])
#4 SV f5- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g E FHEE= Int(((380-75)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R SV 45E R BE (%)= (80+90)*2-8*4+2*13.89=335.8 36.94
g o R EEEBR= Int(((380-75)/2)/15.0)+1=11
th iR R = 335.8*11/100=36.94 M
#4 SMERR-RE SV4i5E K BE (5 2)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
EMEBERR-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=199.6 )
Y(EE)RRE ()= (90-2*[{REE]14+2*[135E & §7]13.9)
*2=219.6
#4 - F Tk #4 - T iHE = Int(((380-75)/2)/10.0)+1=16 67.1
< FTFik#E K= (199.6+219.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B E= Int(((380-75)/2)/15.0)+1=11 46.1
<7 iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BRERE HAR B EHEK=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERTE:

EEEEHER1)16-#10 (HB2)X-#X
AEBREH:(HE1)18-#10 ($B2)X-#X
HE2R55(1)#8:10-107163%

MBI (2)1:10-T 2%

EARETE:
F4#R:(80+90)*2*380/10000=12.92 M2
HRE AR MO

%:1i2:-(G1) 50*75/10000=0.38

%:2i2:-(B4) 45*70/10000=0.32

%:3i8:-(G2) 50*75/10000=0.38

KL E/NET:1.07 M2
FERRGE AR R A0 R

%:1i£:40.00*16/10000=0.0640

%:2i£:30.00*16/10000=0.0480

%:3i2:40.00*16/10000=0.0640

%:4i£:80.00*16/10000=0.1280

L E/NET:0.3040 M2
FENEE AR R A0 R

EEE (R

S 2(ARE

-:G1=15%(380-75)/10000=0.46
-:CS=15%(380-16)/10000=0.55
EIENE 3(hE)-:CS=15*(380-16)/10000=0.55
EIENE 4(BE)--B4=15%(380-70)/10000=0.47
KL E/NET:2.01 M2
*EH%_@‘:%:'] 2.92-[AE R HE]1.07-[#E kR X #%]0.30-[#F 15 XX $%]2.01=9.54 M2
RCEt&E:
80*90*380/1000000= 2.736 M3

MEETEER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

~— ~— ~— ~—
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SRR /MET = 0.6922 T
HBAR/NET(E) = 9.54 M2
SRR /NET = 2.736 M3

PNA21-01-#£f&: 2F , #£K5%: C7, fIE 5k 14 [X5:+145,Y5:+5] R~1: 80 cm * 90 cm , #7&: 380.0 cm

#10 EHEE1HE-—HRE): (380+0)*18/100 68.40
| g5+ 1 (Lo) (2
[#&#%=0])
#4 SN RS- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g E TFHEEB= Int(((380-75)/2)/10.0)+1=16
tTFiEEE= 335.8%16/100=53.72 M
#4 SMERR-h R SR EE(H )= (80+90)*2-8*4+2+13.89=335.8 36.94
g rh G B8= Int(((380-75)/2)/15.0)+1=11
S48 K= 335.8*11/100=36.94 M
#4 SMER-RE SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
EMEBERR-KFER,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(EE)REE(HA )= (90-2*[{RE[E]14+2*[135E & £1]13.9)
*2=219.6
#4 Bi5- g #4 £ T iR S= Int(((380-75)/2)/10.0)+1=16 67.1
</ ETFigiaR= (199.6+219.6)*16/100=67.1 M
#4 Bih-ch s #4th RIHEBI= Int(((380-75)/2)/15.0)+1=11 46.1
<7 L% R = (199.6+219.6)*11/100=46.1 M
#4 BH-BREE #ABRZ E 1R =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
EESTE

R (H1)18#8 (#2)XHX

REHEEE(11)18#10 (HI2)X-HX

BIE235E(1)%:10-8¥18%

EhRETE:

F#EhR:(80+90)*2*380/10000=12.92 M2

AR E AR RO RR:
%:158:-(G5) 50*75/10000=0.38
%038 -(B3) 45*70/10000=0.32
%5:3%:-(G6) 50*75/10000=0.38
%438 -(B4) 45*70/10000=0.32
LLE/NET:1.38 M2

FERRE AR R A0 B
:178:40.00*16/10000=0.0640
£:2%:30.00*16/10000=0.0480
%£:378:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/INET:0.2240 M2

AN E AR A A0 B
BN 1(BE)-:B3=15%(380-70)/10000=0.47
BN 2(BE)-:B4=15%(380-70)/10000=0.47

Ll E/NEH0.93 M2
ﬁﬁl%rﬁgﬁnz.gz-mt%ﬁ;gn .38-[FE R 3T $E]0.22-[4E 15 35 $£]0.93=10.39 M2
RCETE:

80*90*380/1000000= 2.736 M3
-------------- ELR- K o )Y J—
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
$MER/NET =0.6922 T
BAR/INET(E) = 10.39 M2
R /NET = 2.736 M3

PNA21-01-#£f&: 2F , #4K5%: C2, IERF5%: 3 [X3:-235,Y7:-165] R~F: 80 cm * 90 cm , #&: 380.0 cm
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#10 F (5 14R-—HEB): (380+0)*18/100 68.40
| T H+EE(Lg)(HEHE
[#&#%=0])
#4 SV - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
g T S= Int(((380-75)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g h I 2R= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SN RR-R 5\ iE R BE(H2)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEE(HRE)= (80-2*[{RERB]4+2*[135EF E$7]13.9)
</ EM[ *2=199.6 ]
Y(EE)ERE(FBE)= (90-2* [{R#[B14+2*[135EE £ £7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T inE 2= Int(((380-75)/2)/10.0)+1=16 67.1
</ E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-75)/2)/15.0)+1=11 46.1
</ th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRFEHFE=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3

RSt R:

FERER:(E1)16-#10 (
ABHEH:(FH1)18-#10 (
1EHERSE(1)40:10-10"16%
B E(2)#:10-T2%

#2
#2

YX-#X
)X-#X

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HRGE AR AR ORR:

%:15%:-(G2) 50*75/10000=0.38
%:2;8:-(B6) 45*70/10000=0.32
%:3:%:-(G3) 50*75/10000=0.38
L E/NEH:1.07 M2

FERE BEAR AR O BR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LL_E/VET:0.3040 M2

FEHEE AR RO RR:
EIERE 1 (BRE)-
B 2(RE)-
I 3(RE)-
B 4(RE)-

)_

RCEtHE:

:G3=15%(380-75)/10000=0.46

CS=15*(380-16)/10000=0.55
CS=15*(380-16)/10000=0.55
B6=15%(380-70)/10000=0.47
B IS 5(FRE )-:G2=15%(380-75)/10000=0.46
Ll ENEH2.47 M2
AR FEET:12.92-[FE 4R 3T $5]1.07-[#F hR 32 $£]0.30-[#E 18 32 $%]2.47=9.08 M2

80*90*380/1000000= 2.736 M3

Mt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6922 T
BRR/NVET(E) = 9.08 M2
JREE /NG = 2.736 M3

PNA21-01-#£f&: 2F , #£X8%: C7, SIEFF5%: 15 [X5:+145,Y7:-165] R~F: 80 cm * 90 cm , 4 5&: 380.0 cm

#10

EH(E1HE-—RE):
EE -+ (L) (1
[##E=0])

(380+0)*18/100

68.40
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#4

SMER- £ T i

SMEEE(F )= (80+90)*2-8*4+2+*13.89=335.8
L+ T H#EE= Int((380-75)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

53.72

#4

5\ RE(H )= (80+90)*2-8*4+2*13.89=335.8
h S 2R= Int(((380-75)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M

36.94

SR E(H )= (80+90)*2-8*4+2*13.89=335.8
(Int(75/10))*335.8/100=23.50 M

23.50

XOKTF)RRE(HR4E)= (80-2*[{REB]4+2*[135 €£44]13.9)
*2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

#4

#4 &+ T i%E %= Int(((380-75)/2)/10.0)+1=16
LTk = (199.6+219.6)16/100=67.1 M

67.1

#4

#4th REEEIE= Int(((380-75)/2)/15.0)+1=11
th R 48 5 = (199.6+219.6)*11/100=46.1 M

46.1

#4

[
R
" U

#ARF B F=(199.6+219.6)*Int(75/10)/100= 29.34 M

29.3

falsRa®E:

EBAT TS (481)18-#8 ($B2)X-#X
ABHEH:(41)18-#10 ($B2)X-#X
BIE285(1)50:10-8*18%

BhREHE:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HEEERR MO

%:138:-(G6) 50*75/10000=0.38
%:2;8:-(B5) 45*70/10000=0.32
%:3;8:-(G7) 50*75/10000=0.38
%:4;%:-(B6) 45*70/10000=0.32
Ll _E/NEF:1.38 M2

FERE AR AR O BR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.2240 M2

FEHE AR RO PR

E 1 (MRE)-:S2=12%(35-16)/10000=0.02
TR D(FR K )-:B5=15%(380-70)/10000=0.47
I 3(FR K )-:B6=15%(380-70)/10000=0.47
Ll _E/NEF:0.95 M2
AR AEET:12.92-[FE R 3 $5]1.38-[#F iR 32 $10.22- [ 15 38 $%]0.95=10.36 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6922 T

BAR/INET(E) = 10.36 M2

B /e =2.736 M3

PNA21-01-#£f8: 2F , & K58%: C12, SIEFF5%: 26 [X6:+108,Y7:-158] R~t: 128 cm * 80 cm, #&: 380.0 cm

U

#8 ERH(BEE-—RE): (380+0)*22/100 83.60
| 3 (Lo (4
& #2-0)
N iEfR- L T in %?ﬁﬁg(ﬁﬁ?): (128+80)*2-8*4+2*13.89=411.8 65.88

L T B = Int((380-75)/2)/10.0)+1=16
T E= 411.816/100=65.88 M
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#4 SMER-H R SR EE ()= (128+80)*2-8*4+2*13.89=411.8 45.30
@ rh ARG B8= Int(((380-75)/2)/15.0)+1=11
R R = 411.811/100=45.30 M
#4 VAS il e S\MERE ()= (128+80)*2-8*4+2*13.89=411.8 28.82
B (Int(75/10))*411.8/100=28.82 M
BHEHR-KERE | XOKTF)RREGBHE)= (128-2* [REE]4+2*[135E & )
<7 EM 13.9)*2=295.6 ]
Y(EE)ARE )= (80-2 R B]4+2*[135FE & $7]13.9)
*2=199.6
#4 B - LT #4_E T B $= Int(((380-75)/2)/10.0)+1=16 79.2
</ L TFigiaR= (295.6+199.6)*16/100=79.2 M
#4 BE-PRin #4rh R B EE= Int(((380-75)/2)/15.0)+1=11 54.5
<7 ik R = (295.6+199.6)*11/100=54.5 M
#4 BH-BERE HAR R [E 48 K =(295.6+199.6)*Int(75/10)/100= 34.66 M 347
fEESTE:

EBHER(11)22-48 (#B2)X-#X

ABHER:(101)22-#8 ($A2)X-#X

BIEIRE(1)M:8-8*22%
BhRET &

F % hfr:(128+80)*2*380/10000=15.81 M2

BRI OB
%:138:-(G2) 50*75/10000=0.38
%:28:-(G9) 50*75/10000=0.38
%:3i%:-(B5) 45*70/10000=0.32
LLE/INEF:1.07 M2

FE MBI AR R O B
%:1i%£:30.00*16/10000=0.0480
%5:3i%:30.00*16/10000=0.0480
%5:458:77.50%16/10000=0.1240
LL_E/VEH:0.2200 M2

RS E AR R O R

EERE: 1 (FSorE %E):=15%(130-0)/10000=0.20
EES 2(F S orE %E):=15%(10-0)/10000=0.02

LLE/NVET:0.21 M2

AR FEET:15.81-[FE R HE]1.07-[#E iR 32 $]0.22-[4E #5328 $£]0.21=14.31 M2

RCEH&E:
128*80*380/1000000= 3.891 M3

MArEt HAER:

#4=308.348 M (308.348 M*0.994/1000= 0.3065 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)

$MAR/INET = 06392 T
BAR/NET(E) = 14.31 M2
iEgEL/VEr = 3.891 M3

PNA21-01-#8f8: 2F , #HL5%: C14, MEF5%:

40 [X8:+173,Y8:-134] R~: 90 cm * 80 cm , & 380.0 cm

#8 FEH(E1HE-—REB): (380+0)*20/100 76.00
| A+ (Lg) (B
[#&#£=0])
#4 SMERR-L T i SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
g + THEREZ= Int(((380-75)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 SME - R HMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g th R AGE 28= Int(((380-75)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-75)/2)/10.0)+1=16 67.1
<2 T8 E= (219.6+199.6)*16/100=67.1 M
#4 B-rh i #4rh R IHE = Int(((380-75)/2)/15.0)+1=11 46.1
<7 R 48 K = (219.6+199.6)*11/100=46.1 M
#4 BE-BEE HARFEHE=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
FEEHE

R 1)16-#8 (FH2)X-#X
ABREH:(FE1)20-#8 (FH2)X-#X
BR85S (1)48:8-8* 16
{EERE2)ME:8-T4X

RhREt H:

F 1 hR:(90+80)*2*380/10000=12.92 M2

FERRE AR RO BR:

%:152:-(G15) 50*75/10000=0.38
55:2i%:-(B10) 45*70/10000=0.32
%:3i2:-(G16) 50*75/10000=0.38
KL E/NEE:1.07 M2

FERRE AR RO BR:

£5:2i%:40.00*16/10000=0.0640
%:3i£:30.00*16/10000=0.0480
%5:4i%:40.00*16/10000=0.0640
LLE/VEt:0.1760 M2

FEIEE AR RO BR:

BN 1 (FHorEZE):=15%(120-0)/10000=0.18

EIENE 2(BE)--G16=15*(10-10)/10000=0.00

KL E/NET:0.18 M2
AR R 12.92-[#F R E]1.07-[#E R XX $%]0.18-[#E 15 3 $£]0.18=11.50 M2

RCEtH&E:

90*80*380/1000000= 2.736 M3

MEETEER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)

SMAR/NET =0.5576 T

BRR/NVEH(EE) = 11.50 M2

EREL /NG =2.736 M3

PNA21-01-#&/8: 2F , #:4t5%: C35, B Fk:

44 [X9:+155,Y18:-45] R~F:90 cm * 80 cm , 4 5: 380.0 cm

#10 EH(E14A-—ARRE): (380+0)*18/100 68.40
| T+ (Lg) (%
[#E#=0])
#4 SMER- £ T i 5V R EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
E; L+ THEEIE= Int(((380-75)/2)/10.0)+1=16
£ T R= 335.816/100=53.72 M
#4 SN - R 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
E; rh SR 5B B8= Int(((380-75)/2)/15.0)+1=11
bR fERE R = 335.8%11/100=36.94 M
#4 SRR 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 23.50
E; (Int(75/10))*335.8/100=23.50 M
BHEHER-KTERE | XOKE)RREFRE)= (90-2* [{RERE]4+2*[135E E]13.9)
< A *2=219.6 .
Y(EE)ERE(H )= (80-2*[{FHEB14+2*[135F € 40]13.9)
*2=199.6
#4 - LT #4_F T B 8= Int(((380-75)/2)/10.0)+1=16 67.1
< L TimfER= (219.6+199.6)*16/100=67.1 M
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#4 BH-rh i #4th R IHE = Int(((380-75)/2)/15.0)+1=11 46.1

< R 48 K = (219.6+199.6)*11/100=46.1 M
#4 BE-BEE HARF EHE=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
fBEETE:

EEREHR1)16-#10 (#B2)X-#X
AEBHEH:(HE1)18-#10 ($B2)X-#X
HE2R55(1)#8:10-107163%
MR (2)1:10-T2%
ERRETE:
FHHR:(90+80)*2*380/10000=12.92 M2
RSB
%:1i2:-(B25) 45*70/10000=0.32
%:2i2:-(G37) 50*75/10000=0.38
%:3i2:-(G38) 50*75/10000=0.38
KL E/NEE:1.07 M2
RS AR MR R
%:1i£:30.00*16/10000=0.0480
%5:2i£:40.00*16/10000=0.0640
%:3i£:80.00*16/10000=0.1280
%:4i2:40.00*16/10000=0.0640
L E/NET:0.3040 M2
S AR MR
1 (AR E)-:CS=15%(380-16)/10000=0.55
2 (R B )-:CS=15%(380-16)/10000=0.55
3 (HR K )-:G38=15%(380-75)/10000=0.46
4 (FR K )-:B25=15%(380-70)/10000=0.47
KL E/NEE:2.01 M2
*Eﬁl%rﬁgﬁn 2.92-[#RR3Z#E]1.07-[#E kR 33 $%]0.30-[#F 4% 32 $%]2.01=9.54 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
SMAR/INET =0.6922 T
BRR/NVET(E) = 9.54 M2
R /NET = 2.736 M3

PNA21-01-#&[8: 2F , #4t5%: C32, L& F4%: 50 [X10:-175,Y18:-45] R~F: 90 cm * 80 cm , #£5: 380.0 cm

#8 EH(E14A-—ARE): (380+0)*18/100 68.40
| T +REE(Lg) (%
[#E#=0])
#4 SV - £ T iR 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
E; £ TR = Int(((380-75)/2)/10.0)+1=16
£ T R= 335.816/100=53.72 M
#4 HMIE - R 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
E; rh SR 5B 88= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8%11/100=36.94 M
#4 SN R- B s B R EE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
E; (Int(75/10))*335.8/100=23.50 M
BHEHER-KTERE | XOKFE)RREFRE)= (90-2* [{RERE]4+2*[135E E5]13.9)
< A *2=219.6 .
Y(EE)ERE (4= (80-2*[{FHEB14+2*[135F € 40]13.9)
*2=199.6
#4 Bi5- LT #4 & T i Bl 8= Int(((380-75)/2)/10.0)+1=16 67.1
< L TimfER= (219.6+199.6)*16/100=67.1 M
#4 R W-h R % #4th R B= Int(((380-75)/2)/15.0)+1=11 46.1
<7 rhRif#E K= (219.6+199.6)*11/100=46.1 M

Page 15/52



#4

HARFEME=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3

Rt E:
EEAEH(R1)16-#8 (H2)X-#X
AR (H1)18-#8 (H2)X#X
B3R5 (1)40:8-8*16%
{EERS5E(2)4:8-T2%

ERRETE:
FHHR:(90+80)*2*380/10000=12.92 M2
SRR

%:1i2:-(B27) 45*70/10000=0.32
%5:2i2:-(G37) 50*75/10000=0.38
KL E/NET:0.69 M2
RS AR MR R
%:1i£:30.00*16/10000=0.0480
%:3i£:80.00*16/10000=0.1280
%:4i2:40.00*16/10000=0.0640
L E/NET:0.2400 M2
S AR RO

E S 1(MUK)-:CS=15*(380-16)/10000=0.55

EIEE2(hRE

:CS=15%(380-16)/10000=0.55

)-

)-
E TS 3(RK)-:B27=15%(380-70)/10000=0.47
E TS 4(E)-:G37=15*(380-75)/10000=0.46

KL E/NEE:2.01 M2

AR ET:12.92- (A BR 32 H£]0.69-[4: hin 32 $]0.24- [# & 32 $%]2.01=9.98 M2

RCEtH&E:
90*80*380/1000000= 2.736 M3

MEETEER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMAR/INET = 0.5274 T
HBAR/NVET(E) = 9.98 M2
R /NET = 2.736 M3

PNA21-01-#&[8: 2F , #:4t5%: C35, B Fk:

42 [X9:+155,Y16:-185] R~f: 90 cm * 80 cm , #£5&: 380.0 cm

#10 EHH(E14A-—ARRE): (380+0)*18/100 68.40
| T +EE(Lg) (%
[#E$#=0])
#4 SN - £ T iR 5\ R (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
g £ THEEIE= Int(((380-80)/2)/10.0)+1=16
£ T R= 335.816/100=53.72 M
#4 HMIE - R 5\ E (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
E; rh S5 B 2= Int(((380-80)/2)/15.0)+1=11
bR fERE R = 335.8%11/100=36.94 M
#4 SRR S5 R EE(H )= (90+80)*2-8*4+2*13.89=335.8 26.86
E; (Int(80/10))*335.8/100=26.86 M
BHEHER-KTERE | XOKE)RREFRE)= (90-2* [{RERE]4+2*[135E E]13.9)
< A *2=219.6 .
Y(EE)ERE (4= (80-2*[{FHEB14+2* 135 €£45]13.9)
*2=199.6
#4 Bi5- LT #4 & T imB 8= Int(((380-80)/2)/10.0)+1=16 67.1
< L TFimfER= (219.6+199.6)*16/100=67.1 M
#4 R W-h R % #4th LI Bh= Int(((380-80)/2)/15.0)+1=11 46.1
<7 rhRif#E K= (219.6+199.6)*11/100=46.1 M
#4 BH-RERE H#AR B EHERK=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5

ERBHETHGR1)16-#10 ($H2)X-#X
ARBHIH:(HE1)18-#10 (FH2)X-#X
{EHERE(1)48:10-10*16%
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TBIERE(2)M:10-T2X%
BIRETE:

F 4 hR:(90+80)*2*380/10000=12.92 M2

FERRE AR R IR
%5:15%:-(G31) 50*75/10000=0.38
55:2i%:-(B24) 45*70/10000=0.32
%5:3i%:-(G32) 50*80/10000=0.40
KL E/ET1.09 M2

FERRE AR R IR
5:2i2:40.00%16/10000=0.0640
5:3:2:30.00%16/10000=0.0480
5:432:40.00%*16/10000=0.0640
LA E/NEF:0.1760 M2

AR E AR RO RR:
B (FHoriE Z2):=15*(210-0)/10000=0.32
EENS 2(BRE)-:G32=15%(130-80)/10000=0.08
EES:3(BRE)-:G31=15%(20-20)/10000=0.00

Ll /NE0.39 M2
@Hﬁﬁéﬁﬂ 2.92-[FE AT HE]1.09-[AE kR 3 $#£]0.18-[4: & 32 $£]0.39=11.26 M2
RCEE:
90*80*380/1000000= 2.736 M3
-------------- ELRC K 1 1Y p—
Mt ERR:

#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
$ARR/NET =0.6997 T
BAR/NVET(E) = 11.26 M2
SRR /NET = 2.736 M3

PNA21-01-4&8: 2F , 44X 85 C15, (B FFEE: 41 [X8:+90,Y9:-161] R~t: 90 cm * 80 cm , #&: 380.0 cm

#8 ER(E1HR-—ABE): (380+0)*16/100 60.80
| A (Lo (B
[#B#£=0])
#4 HNERS- £ T S\EEE(HT)= (90+80)*2-8*4+2%13.89=335.8 53.72
g L FHEE = Int(((380-75)/2)/10.0)+1=16
L+ T E= 335.8*16/100=53.72 M
#4 S5 fR-T R SR E(H )= (90+80)*2-8*4+2%13.89=335.8 36.94
g rh G B8= Int(((380-75)/2)/15.0)+1=11
R R = 335.8711/100=36.94 M
#4 S f5- R SR E(H )= (90+80)*2-8*4+2%13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHERR-KER,E X(KE)RRE(ARIE)= (90-2*[{REB14+2*[135F & £5]13.9)
< B *2=219.6 )
Y(EE)RRE ()= (80-2*[{REE]14+2*[135E & §7]13.9)
*2=199.6
#4 8- T i #4 - T i EB= Int(((380-75)/2)/10.0)+1=16 67.1
</ LR E= (219.6+199.6)*16/100=67.1 M
#4 B 5-rh S i #4th SR E 8= Int(((380-75)/2)/15.0)+1=11 46.1
<7 thdif e = (219.6+199.6)*11/100=46.1 M
#4 Bi-BREE HAR B [EHE=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
BERTE:

LR (1)16#8 (#2)XHX
AR (FE1)16-#8 ($H2)X-#X
B335 (1)58:8-8*16%%

BARETE:
F#EhR:(90+80)*2*380/10000=12.92 M2
AR E AR RO RR:

%:152:-(B10) 45*70/10000=0.32
%5:2i%:-(G19) 50*75/10000=0.38
%5:3i%:-(G20) 50*75/10000=0.38
LA E/NEF:1.07 M2
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FERRE IR R 3O R
%:1i%:30.00%16/10000=0.0480
%:2i%:40.00%16/10000=0.0640
%:4%:40.00%16/10000=0.0640
LL_E/NEH:0.1760 M2

NS B AR IO R
EREE:1(FE SorE ZE):=15%(10-0)/10000=0.02
LLE/NEF:0.02 M2

$§H%ﬁ§§+:12.92-[$ﬂ%€§?§]1.07-[7&#& R $%]0.18-[#E 153 $£]0.02=11.66 M2
RC:Et&E:
90*80*380/1000000= 2.736 M3
-------------- R R 0] N —
et EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
MAR/NET = 04971 T
BAR/MEH(E) = 11.66 M2
R /et = 2.736 M3

PNA21-01-#&/8: 2F , #:1t5%: C18, IER3%: 47 [X9:-228,Y8:+195] R~: 90 cm * 80 cm , #£5: 380.0 cm

#10 ERF(E14-—HRE): (380+0)*16/100 60.80
| T H+EE(Lg)(HEHE
[#&#=0])
#4 SN RS- £ T i S\ B (H4)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THE = Int(((380-75)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R SR E ()= (90+80)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8*11/100=36.94 M
#4 SMER-RE SR E ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEBERER-KFER,E | XOKE)REEGRIE)= (90-2*[{REB]14+2*[135E &$7]13.9)
</ ER *2=219.6 _
Y(EE)ERE(FBE)= (80-2* [{R#[B14+2*[135F & £4]13.9)
*2=199.6
#4 BH5-E T #4_F TR 8= Int(((380-75)/2)/10.0)+1=16 67.1
</ Lt TFig#E K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 PR R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ABRF B E=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
EEBHE:

R :(E1)16-#8 (#H2)X-#X

ABEER:(FE1)16-#10 ($H2)X-#X

B8 (1)40:10-8"16%

ARG &

F 4 hR:(90+80)*2*380/10000=12.92 M2

FEARE AR MO RR:
%:138:-(B12) 45*70/10000=0.32
%5:2i%:-(G18) 50*75/10000=0.38
%5:3i%:-(CB12) 45*60/10000=0.27
%:4%:-(G19) 50*75/10000=0.38
L E/NET:1.34 M2

FERRE AR MR A0 BR:
%:1i8:30.00*16/10000=0.0480
:2i%:40.00*16/10000=0.0640
%:3i2:30.00*16/10000=0.0480
%:48:40.00*16/10000=0.0640
L E/INET:0.2240 M2

FEAE E AR M0 RR:
E NS 1(BRE)-:CB12=15%(120-60)/10000=0.09
B 2(F ZoriE Z2):=15%(10-0)/10000=0.02
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LLE/NET:0.11 M2
*ﬁﬁ%ﬁgﬁﬂz%-[ﬁ@ﬁ?ﬁh B4-[FEhR R $5]0.22-[#F 153 $£]0.11=11.26 M2
RCEtE&E:
90*80*380/1000000= 2.736 M3

et EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$AER/INET = 0.6436 T
BAR/MEH(E) = 11.26 M2
RN = 2.736 M3

PNA21-01-#&/8: 2F , #:1t5%: C18, fIER5%: 53 [X11:-45,Y8:+51] R~F: 90 cm * 80 cm , ¥ &: 380.0 cm

#10 F (5 14R-—HEB): (380+0)*16/100 60.80
| g (Lo (B
[#&#%=0])
#4 SV - £ T i 5\ (F52)= (90+80)*2-8%4+2*13.89=335.8 53.72
@ T S= Int(((380-75)/2)/10.0)+1=16
F T K= 335.8*16/100=53.72 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ R 2R= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE SR E(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFHEE)= (90-2 [(RERB4+2*[135E & £]13.9)
</ E[A *2=219.6 ]
Y(EE)AREHRHE)= (80-2[REE14+2*[135E & $]13.9)
*2=199.6
#4 Bip-LTim #4 £ T ixE 2= Int(((380-75)/2)/10.0)+1=16 67.1
</ L+ Fi#ER= (219.6+199.6)*16/100=67.1 M
#4 BE-PRim #4rh IR EIEL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th iR = (219.6+199.6)*11/100=46.1 M
#4 B-REE #ARF B R =(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
EESTE

EEHEEHGR1)16-#8 (H2)X-#X
ABEEH:(FE1)16-#10 ($H2)X-#X
BIEER5E(1)4:10-8*16%
EARETE:
FHEHR:(90+80)*2*380/10000=12.92 M2
HRREEERR R
%:13%:-(B12) 45*70/10000=0.32
%:2i8:-(G17) 50*65/10000=0.33
%:33%:-(CB12) 45*60/10000=0.27
%:438:-(G18) 50*75/10000=0.38
Ll E/NEF:1.29 M2
FERRE AR AR 0 BR:
%:13%:30.00*16/10000=0.0480
%:23%:40.00*16/10000=0.0640
%:3%:30.00*16/10000=0.0480
%:438:40.00*16/10000=0.0640
Ll /VEH:0.2240 M2
SRR
EREEE 1 (FRE)-:G18=15%(380-75)/10000=0.46
E 2 (B E)-:G17=15%(10-10)/10000=0.00
E 3 (ARE)-:S5=15%(380-16)/10000=0.55
Ll /VEH:1.00 M2
$§Hl%rfﬁ§§+:1 2.92-[#F R HE]1.29-[AE iR 33 $£]0.22-[#F 15 35 $£]1.00=10.41 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

P EER:
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#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

MAR/NET =0.6436 T

RR/NETH(E) = 10.41 M2

SRR /NET = 2.736 M3

PNA21-01-#8f&: 2F , #£{85%: C21a, B F3%: 57 [X13:+128,Y8:-95] R~t: 90 cm * 60 cm , #£5: 380.0 cm

#10 THEE-LEE (380+0.00)*16/100 60.80
[_ HE)- 2 5+ 00RE 8 §84
TE(MEHE[AE=0))
#4 SMER- £ Tk SR EE(F )= (90+60)*2-8*4+2%13.89=295.8 47.32
g E FHES= Int(((380-65)/2)/10.0)+1=16
L TR E= 295.8*16/100=47.32 M
#4 SME - R SRR EE(HT2)= (90+60)*2-8*4+2*13.89=295.8 32.54
g o R R BR= Int(((380-65)/2)/15.0)+1=11
th R fEE R = 295.8*11/100=32.54 M
#4 SMERR-RE SRR EE(FT2)= (90+60)*2-8*4+2*13.89=295.8 17.75
g (Int(65/10))*295.8/100=17.75 M
EMEBERR-KFR,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
</ B *2=219.6 )
Y(EE)RRE ()= (60-2*[{REE]14+2*[135E & $7]13.9)
*4=319.1
#4 - F TR #4_t T i EB= Int(((380-65)/2)/10.0)+1=16 86.2
< E T E= (219.6+319.1)*16/100=86.2 M
#4 B& 7 -th R b #A4th HLIEEE Bh= Int(((380-65)/2)/15.0)+1=11 59.3
<7 thQigiE R = (219.6+319.1)*11/100=59.3 M
#4 BH-BRERE HARZEEREE=(219.6+319.1)*Int(65/10)/100= 32.32 M 323
BERTE:

AT GR1)XHX (H2)X-#X
ABHTH:(HE1)16-#10 ($H2)X-#X
TBIEEREE(1)5H:10-T16%
Rt E:
F 48 HR:(90+60)*2*380/10000=11.40 M2
RSB AE IR OB
%:158:-(B14) 45*60/10000=0.27
%:2;8:-(CB14) 45*60/10000=0.27
25:338:-(G17) 50*65/10000=0.33
Ll E/NET:0.87 M2
FE MBI AR IR IO BR:
2£:138:10.00*16/10000=0.0160
25:2i8:90.00*16/10000=0.1440
2£:338:10.00*16/10000=0.0160
25:438:40.00*16/10000=0.0640
LL_E/NE:0.2400 M2
NS E AR R O B
TR 1 (KR )-:B14=15*(380-60)/10000=0.48
2 (3 BorEZ2):=15%(10-0)/10000=0.02
Ll _E/VE:0.50 M2
ﬁm%rﬁg?m 1.40-[#E1R 3K $£]0.87-[#E kR 3 $£]0.24-[#F 45 32 $%]0.50=9.80 M2
RCEH&E:
90*60*380/1000000= 2.052 M3

At EER:
#4=275.374 M (275.374 M*0.994/1000= 0.2737 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MER/INET = 0.6622 T
BRR/NVET(E) = 9.80 M2
iR /NET = 2.052 M3

PNA21-01-t&[&: 2F , #8857 CO, fIEF3R: 17 [X5:-75,Y9:-110] R~F: 80 cm * 90 cm , #4£5: 380.0 cm
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#10 F (5 14R-—HEB): (380+0)*18/100 68.40
| T H+EE(Lg)(HEHE
[#&#%=0])
#4 SV - £ T i 5\ (F52)= (80+90)*2-8%4+2*13.89=335.8 53.72
g T S= Int(((380-75)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g h I 2R= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SN RR-R 5\ iE R BE(H2)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEE(HRE)= (80-2*[{RERB]4+2*[135EF E$7]13.9)
</ EM[ *2=199.6 ]
Y(EE)ERE(FBE)= (90-2* [{R#[B14+2*[135EE £ £7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T inE 2= Int(((380-75)/2)/10.0)+1=16 67.1
</ E T R= (199.6+219.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-75)/2)/15.0)+1=11 46.1
</ th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ABRFEHFE=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3

RSt R:

EBREH:(HE1)16-#8 (FH2)X-#X
ABEE:(FE1)18-#10 ($H2)X-#X
{BIEERE(1)4:10-8*16%
1B (2)/:10- T2

BhREHH:

F 1 hfr:(80+90)*2*380/10000=12.92 M2

HRGE AR AR ORR:

%:15%:-(G8) 45*60/10000=0.27
55:2i8:-(B15) 45*70/10000=0.32
%:35%:-(G25) 50*75/10000=0.38
%5:4i&:-(B16) 45*70/10000=0.32
LLE/NVET:1.28 M2

FERE AR AR O BR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LL_E/VET:0.2240 M2

FEHSE AR RO RR:

T 1(FRE)-:B15=15%(380-70)/10000=0.47
B 2(FRE)-:B16=15%(380-70)/10000=0.47
LL_E/NE:0.93 M2
AR AEET:12.92-[FE R $5]1.28-[#F iR 32 $10.22- [ 15 38 $%]0.93=10.49 M2

RCEtH&E:

80*90*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6922 T

BAR/INET(E) = 10.49 M2

B /e =2.736 M3

PNA21-01-#£&: 2F , #£08%: C22, fiB F8E: 9 [X4:+45,Y11:-180] R~:80 cm * 90 cm , 3 &: 380.0 cm

#10

EH(E1HE-—RE):
EE+ (L) (1EHE
[##E=0])

(380+0)*16/100

60.80
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SMERS- £ T SMEEE(F )= (80+90)*2-8*4+2+*13.89=335.8 53.72
L+ T H#EE= Int((380-75)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

#4

SRS R sM4E 5 B (F7)= (80+90)*2-8*4+2+13.89=335.8 36.94
th R B #= Int(((380-75)/2)/15.0)+1=11
s 48 & = 335.8°11/100=36.94 M

#4

(Int(75/10))*335.8/100=23.50 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (80-2*[{R#EB]4+2*[135E & $7]13.9)
=G *2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

BT #4 &+ T i%E %= Int(((380-75)/2)/10.0)+1=16 67.1
LTk = (199.6+219.6)16/100=67.1 M

#4

8-l #4rh RIH B EL= Int(((380-75)/2)/15.0)+1=11 46.1
th R ifkiE R = (199.6+219.6)*11/100=46.1 M

#4

BH-BERE #ARF B F=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3

#4 g o\ A -BR SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
#4

EESIE
EEEEH:(HR1)16-#8 (FH2)X#X
ABAEH:(HE1)16-#10 ($82)X-#X
BRI (1)5H:10-8*16%

BhRET &

F48HR:(80+90)*2*380/10000=12.92 M2

PR E AR MO RR:
%5:1i8:-(B18) 45*70/10000=0.32
2:2i8:-(G22) 50*75/10000=0.38
Ll _E/VET:0.69 M2

FE MBS IR OB
25:2i8:30.00*16/10000=0.0480
25:338:40.00*16/10000=0.0640
25:43%:80.00*16/10000=0.1280
LL_E/VE:0.2400 M2

AN E AR R O PR
B 1(FRE)-:B18=15%(380-70)/10000=0.47
B2 (MK )-:CS=15*(380-16)/10000=0.55
B3 (MK )-:CS=15*(380-16)/10000=0.55
LL_E/NE1.56 M2

ﬁm%rﬁgﬁn2.92-[*11%’&?%]0.69-[*1#&&?&]0.24-[& % 3 $£]1.56=10.43 M2

RCE&E:

80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MER/INET = 0.6436 T
BAR/INET(E) = 10.43 M2
R /NGt = 2.736 M3

PNA21-01-#£f8: 2F , #K58%: C29, & F5%: 30 [X6:-95,Y11:-180] R~t: 80 cm * 90 cm, #&: 380.0 cm

#8 FH(E1HE-—REE): (380+0)*16/100 60.80
| T+ (Lg)(1EHE
[#&#£=0])
#4 SMERR- £ T HMERE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ + THEREZ= Int(((380-75)/2)/10.0)+1=16
+ T K= 335.816/100=53.72 M

ARG 24= Int(((380-75)/2)/15.0)+1=11

#4 @ HME - R SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
th R fERE K= 335.8*11/100=36.94 M
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#4 SN - S\ R ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E (G H4E)= (80-2*[{R#B]4+2*[135E & $7]13.9)
<2 B *2=199.6 ]
Y(BE)EERE(H )= (0-2* IR HEB4+2*[1355 E£4]13.9)
*2=219.6
#4 B Tk #4 & T 85 B 2= Int(((380-75)/2)/10.0)+1=16 67.1
<2 T8 E= (199.6+219.6)*16/100=67.1 M
#4 B-rh R #4rh R IHE = Int(((380-75)/2)/15.0)+1=11 46.1
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BEH-BEE HARE B E=(199.6+219.6)Int(75/10)/100= 29.34 M 29.3
FEEHE

EREEEH:(HR1)16-#8 (FH2)X#X
AEFRTH:(H1)16-#8 (#H2)X-#X
MBI RE(1)1:8-816%
AR &
F48HR:(80+90)*2*380/10000=12.92 M2
PR E AR MO RR:
%:138:-(G29) 50*75/10000=0.38
%:258:-(B17) 45*70/10000=0.32
Ll _E/NET:0.69 M2
FERRE AR M0 B
25:3i8:40.00*16/10000=0.0640
25:43%:30.00*16/10000=0.0480
LU E/NEF0.1120 M2
RS E AR M0 R
1 (B orEZ):=15%(10-0)/10000=0.02
Ll E/NEF:0.02 M2
$Em%rﬁ.§§+:12.92-[*11%’&3??&]0.69-[&#&3*&?%]0.1 1-[4E#83$£]0.02=12.10 M2
RCEHE:
80*90*380/1000000= 2.736 M3

Mt EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAER/INET =04971 T
BAR/INET(E) = 12.10 M2
iR /INE =2.736 M3

PNA21-01-#£&: 2F , #£C8%: C26, fiEB F8E: 19 [X5:-75,Y11:-180] R~F: 80 cm * 90 cm , 4 &: 380.0 cm

#10 EHH(E14E-—ARE): (380+0)*18/100 68.40
| I+ (Lg) (M8
[#&#£=0])
#4 S\ A5 - £ T i s\E R EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEEIE= Int(((380-75)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 HME - R SRR B ()= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-75)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHBEHER-KTER,E | XOKE)AEEGRIE)= (80-2*[{REE]14+2*[135E & £7]13.9)
<7 (1R *2=199.6 7
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135EE £ £]13.9)
*2=219.6
#4 BH5-E T % #4 - TiRBE= Int(((380-75)/2)/10.0)+1=16 67.1
</ ETiR#ER= (199.6+219.6)*16/100=67.1 M
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#4 BH-rh i #4th R IHE = Int(((380-75)/2)/15.0)+1=11 46.1

</ L% £ = (199.6+219.6)*11/100=46.1 M
#4 Bi-REE #AR B EHE=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3

tBERaTE:

LEREEH:HE1)18-# (‘fﬁZ)x #X

RERTE:(1)18-#10 (H2)X-#X

BIEIREE(1)4H:10-8* 8§
EARETE:

F 1% 4R:(80+90)*2*380/10000=12.92 M2

MR E R

%:132:-(B17) 45*70/10000=0.32
%:2;8:-(G26) 50*75/10000=0.38
%:3;8:-(B18) 45*70/10000=0.32
Ll E/NER1.01 M2

FERRE AR MR 0 B
%5:23%:30.00*16/10000=0.0480
%5:3i%:40.00*16/10000=0.0640
5:4;%:30.00*16/10000=0.0480
Ll _E/NEF:0.1600 M2

NS E AR M0 R
SEEYE1(1RK)--B17=15%(380-70)/10000=0.47
SE IS 2(HRE)-:B18=15%(380-70)/10000=0.47

LA E/NEF0.93 M2
$§H@rﬁ§§+:12.92-{mﬁ£§¢§]1 01-[FERR 32 $E]0.16-[4E 15 35 $£]0.93=10.83 M2
RCEtHE:
80*90*380/1000000= 2.736 M3
-------------- EIICE L /[ S——
Mt ERR:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
$MER/INET =0.6922 T
BAR/INET(E) = 10.83 M2
iR /INE =2.736 M3

PNA21-01-#£&: 2F , #£C8%: C23, RIBF5E: 10 [X4:+45,Y12:+150] R~t: 80 cm * 90 cm , 45 380.0 cm

#10 FHh(E1HR-—REB): (380+0)*16/100 60.80
| T+ (L) (%
[#E#=0))
#4 sMER- £ T i SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 53.72
g E THEEE= Int(((380-75)/2)/10.0)+1=16
L+ TiE#ER= 335.8*16/100=53.72 M
#4 SME - R SV R EE (B )= (80+90)*2-8*4+2*13.89=335.8 36.94
g rh J 45 B 2= Int(((380-75)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 SMER- B SV R EE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEHRE-KERE | XOKP)MEEARE)= (80-2*[{RERE]4+2*[135E E4$7]13.9)
<2 EM *2=199.6 )
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135E £ £]13.9)
*2=219.6
#4 B5- LT #4_F T iHE 8= Int(((380-75)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 SR M- R IR #4th I B= Int(((380-75)/2)/15.0)+1=11 46.1
<7 rh R iGEHER = (199.6+219.6)*11/100=46.1 M
#4 BhHh-RERE HARF [EHE R =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERTE

EEBEEE(HE1)16-#10 (FB2)X-HX
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AREHFERH:(H1)16-#10 (FH2)X-#X
1BIEEREE(1)58:10-10"16%
RIRETE:

F 1 hk:(80+90)*2*380/10000=12.92 M2

AR E AR IO
%$:158:-(G22) 50*75/10000=0.38
%:2i%:-(B20) 45*70/10000=0.32
%:3%:-(G23) 50*75/10000=0.38
LA E/NEF:1.07 M2

FERRE R RO RR:
%:178:40.00*16/10000=0.0640
%:2%:30.00*16/10000=0.0480
%:352:40.00*16/10000=0.0640
%:45%:80.00*16/10000=0.1280
LLE/NET:0.3040 M2

RS E AR R IO RR:
EEEARE
EEE2(RE

-:CS=15*(380-16)/10000=0.55
-:CS=15*(380-16)/10000=0.55
EIEE:3(MRE )-:S1=15*(380-16)/10000=0.55
EIEIE 4(KR K )-:B20=15%(380-70)/10000=0.47
LLE/NET:2.10 M2
&Hl%rﬁgﬁnz.gz-[ffﬂ%wgn O7-[FERR 32 $£]0.30-[4E 15 35 $£]2.10=9.45 M2
RCEtHE:
80*90*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$MAR/INET = 0.6436 T
BAR/NEH(E) = 9.45 M2
iR /INET =2.736 M3

~— ~— ~— ~—

PNA21-01-#£f8: 2F , #K58%: C30, f1EF5k: 31 [X6:-95,Y12:+150] R~F: 80 cm * 90 cm, #&: 380.0 cm

#8 EH(E14-—ARE): (380+0)*22/100 83.60
| FHHEE(Lg)(1EE
[#E#=0))
#4 SVEfR- L T i SRR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEBIE= Int(((380-75)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 SMERR-h R SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-75)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 HNERR-RE SRR EE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHERRE-KTERE | XOKF)AREEFRIE)= (80-2[{RERE]4+2*135E E£]13.9)
</ Em[ *2=199.6 ]
Y(EE)ERE(HBE)= (90-2*[{R#[B14+2*[135EE £ £]13.9)
*2=219.6
#4 BA5-ETiE #4 - TiRBE= Int(((380-75)/2)/10.0)+1=16 67.1
</ ETin#ER= (199.6+219.6)*16/100=67.1 M
#4 BEh-pRih #4rh RIHEIBL= Int(((380-75)/2)/15.0)+1=11 46.1
<2 th R iR = (199.6+219.6)*11/100=46.1 M
#4 BH-RERE HAR B [ K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERIE

EERTEGR)16-#8 (FH2)X-#X
KB (H1)22-#8 (FH2)X-#X
1B 55(1)40:8-8*16%%
EESE(2)48:8-T6%

EhREHE:
F 1 hR:(80+90)*2*380/10000=12.92 M2
HREEEMR I
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% 152:-(G29) 50*75/10000=0.38
%:2;8:-(G30) 50*75/10000=0.38
%:358:-(B19) 45*70/10000=0.32
LLE/NEE:1.07 M2

FERRE IR IR IO R
%:13i%:40.00%16/10000=0.0640
%:3i%:40.00%16/10000=0.0640
%:4%:30.00%16/10000=0.0480
LL_E/NEH:0.1760 M2

NS BRI

E 1 (BRE)-:G29=15%(10-10)/10000=0.00
EREEE:2(F SorE ZE):=15%(130-0)/10000=0.20

LA _E/NET:0.20 M2

RRARAEET:12.92-[AF BRI #]1.07-[AX kiR 3 $£]0. 18- [# 1 32 $£]0.20=11.48 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3
-------------- R R 0] ) —
Mt ERER

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)

$AfR/INET =0.5879 T
BAR/MEH(E) = 11.48 M2
R /NET = 2.736 M3

PNA21-01-#88: 2F , 2 (K5%: C27, NEFo:

20 [X5:-75,Y12:+150] R~F: 80 cm * 90 cm , 4 5: 380.0 cm

#10 ERF(E14-—HRE): (380+0)*20/100 76.00
| T Hr -+ (Lg)(HEHE
[#&#£=0])
#4 S\ RS- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THEE = Int(((380-75)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R 5\ RE(FHH2)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8*11/100=36.94 M
#4 SMER-RE SR E ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEBERER-KFER,E | XOKE)EEEGRI)= (80-2*[{RERB]4+2*[135E &4$7]13.9)
< [EAR *2=199.6 ]
Y(EE)ERE(HHBAE)= (90-2* [{R#[B14+2*[135FE £ £4]13.9)
*2=219.6
#4 Y- ETiE #4_F TR 8= Int(((380-75)/2)/10.0)+1=16 67.1
</ Lt TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R [E 8K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BESTE:

EBREH:(HE1)16-#8 (FH2)X-#X

ABAEER:($81)20-#10 ($H2)X-#X

B (1)48:10-8*16%

B E(2)4:10-T*4%

BARETE:

F 12 hR:(80+90)*2*380/10000=12.92 M2

FERRE R
%:158:-(G26) 50*75/10000=0.38
55:2i%:-(B19) 45*70/10000=0.32
%5:358:-(G27) 50*75/10000=0.38
%:4;8:-(B20) 45*70/10000=0.32
KL E/NET1.38 M2

FERRE AR AR BR:
%5:1i2:40.00*16/10000=0.0640
55:2i2:30.00%16/10000=0.0480
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%:35%:40.00"16/10000=0.0640
%:4i%£:30.00*16/10000=0.0480
Ll E/NEH:0.2240 M2
SRR
E RS 1 (B E)-:B19=15%(380-70)/10000=0.47
E RS 2(FRE)-:B20=15%(380-70)/10000=0.47
LA _E/NET:0.93 M2
*EH%&§:5+:12.92-[H1%€§¥§]1 .38-[#EhR 33 4%]0.22-[#E 5 32 $%]0.93=10.39 M2
RCEt&E:
80*90*380/1000000= 2.736 M3

At EHR:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)
$AR/INET = 0.7408 T
BAR/NEH(E) = 10.39 M2
RN = 2.736 M3

PNA21-01-#&@: 2F , $:4X5%: C23, MiEFH%: 11 [X4:+45,Y14:-20] R~t: 80 cm * 90 cm , 4 5: 380.0 cm

#10 FH(E14-—ARRE): (380+0)*16/100 60.80
| T H -+ (Lg) (B
[#&#%=0])
#4 SMER- £ T i 5\ iE R BE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T E= Int(((380-75)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SMERR-P R 5\ iE R BE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ h B 8R= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SN - R 5\ E (F52)= (80+90)*2-8*4+2%13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(REB4+2*[135F & £4]13.9)
<7 EM *2=199.6 )
Y(EE)ARE )= (90-2 R #B]4+2*[135E #$7]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE28= Int(((380-75)/2)/10.0)+1=16 67.1
<2 F iR R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh RIFEIEL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 B-RERE #ARF B K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
EEstE:

EREETH:HR1)16-#10 (FH2)X-#X

ABEEF:(HE1)16-#10 ($H2)X-#X

{EHERSE(1)48:10-10"16%

AR &

F 4 hk:(80+90)*2*380/10000=12.92 M2

FEARE AR MO RR:
%:13%:-(G23) 50*75/10000=0.38
%:2i%:-(B20) 45*70/10000=0.32
%5:3i%:-(G23) 50*75/10000=0.38
L E/NET:1.07 M2

FERRE AR M A0 BR:
:1i8:40.00*16/10000=0.0640
%:2%:30.00*16/10000=0.0480
%:3i8:40.00*16/10000=0.0640
%:4%:80.00*16/10000=0.1280
L E/INET:0.3040 M2

AR E AR M0 BR:
EIEE A (RE
BB 2(HRE
BN 3(hRE
EIEE4(BRE

-:CS=15%(380-16)/10000=0.55
-:CS=15%(380-16)/10000=0.55
-:51=15%(380-16)/10000=0.55
-:B20=15%(380-70)/10000=0.47

~— ~— ~— ~—
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LLE/NET:2.10 M2
*ﬁﬁ%ﬁgﬁ‘m 2.92-[AE 3T HE]1.07-[#E kR 3 $%]0.30-[#F 15 XX $%]2.10=9.45 M2
RCEtE&E:
80*90*380/1000000= 2.736 M3

et EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$AER/INET = 0.6436 T
BAR/NVEH(E) = 9.45 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 2F , #:1t5%: C24, IR 12 [X4:+45,Y16:-190] R~: 80 cm * 90 cm , #£5;: 380.0 cm

#8 F (5 14R-—HEB): (380+0)*16/100 60.80
| g (Lo (B
[#&#%=0])
#4 SV - £ T i 5\ (5 2)= (80+90)*2-8%4+2*13.89=335.8 53.72
@ T S= Int(((380-75)/2)/10.0)+1=16
F T K= 335.8*16/100=53.72 M
#4 SME - R 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R 2R= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ RE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (80-2 [(RERB4+2*[135EF & £4]13.9)
</ E[A *2=199.6 .
Y(EE)AREHRHE)= (90-2[REE14+2*[135EE$]13.9)
*2=219.6
#4 Bip-LTim #4 £ T ixE 2= Int(((380-75)/2)/10.0)+1=16 67.1
</ F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh IR EIEL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 iR = (199.6+219.6)*11/100=46.1 M
#4 B-REE #ABRF EH R =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
EESTE

FEREEEGR)16-48 (FA2)X-#X
ABREH:(HE1)16-#8 (FH2)X-#X
1EHERRE(1)40:8-8"16%
EhRETE:
FHE4R:(80+90)*2*380/10000=12.92 M2
FEARE RO
%:13%:-(G23) 50*75/10000=0.38
%:2i%:-(B20) 45*70/10000=0.32
%:3i8:-(G24) 50*75/10000=0.38
LLE/NEE:1.07 M2
FERRE AR AR IO AR
%:1i%:40.00*16/10000=0.0640
%:2i%:30.00*16/10000=0.0480
%:3i%:40.00*16/10000=0.0640
%:4i%:80.00*16/10000=0.1280
Ll E/NE:0.3040 M2
RS E AR AR IO RR:
EHEEE 1 (BRE)-:CS=15*(380-16)/10000=0.55
EEEE2(ARE)-:CS=15*(380-16)/10000=0.55
S 3(MRE)-:S1=15%(380-16)/10000=0.55
TE A (BRE )-:G24=15%(10-10)/10000=0.00
E R 5(F K )-:B20=15%(380-70)/10000=0.47
LLE/NER2.10 M2
$§Hl%rfﬁ§§+:1 2.92-[#F R $E]1.07-[AE A 33 $£]0.30-[#F #5 32 $£]2.10=9.45 M2
RCE&E:
80*90*380/1000000= 2.736 M3
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Mt ERER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARE/INET =04971 T
HBAR/NET(E) = 9.45 M2
SRR /NET = 2.736 M3

PNA21-01-18&: 2F , #HK5%: C30, (M EFk:

32 [X6:-95,Y14:-20] R~F: 80 cm * 90 cm , #&: 380.0 cm

#8 ER(E14E-—HRE): (380+0)*22/100 83.60
| g (Lo (B
[#&#%=0])
#4 SMEf- £ T i SRR EE(HT2)= (80+90)*2-8*4+2*13.89=335.8 53.72
g E FHES= Int(((380-75)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 SME - R SR EE (5 72)= (80+90)*2-8*4+2*13.89=335.8 36.94
g o R BR= Int(((380-75)/2)/15.0)+1=11
rh R E i K= 335.8*11/100=36.94 M
#4 SMERH-RE SR EE ()= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
EHEBERR-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
</ (4G *2=199.6
Y(EHE)ERE(F )= (90-2*[{R#[B]4+2*[135F & $4]13.9)
*2=219.6
#4 855 T iE #4_ b TR 8= Int(((380-75)/2)/10.0)+1=16 67.1
< F TR R= (199.6+219.6)*16/100=67.1 M
#4 B& 7 -th R b #A4Th R 8= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th Qe R = (199.6+219.6)*11/100=46.1 M
#4 Bm-BERE HAR B EHEK=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERTE:
FRERTHFR1)16-#8 (FH2)X-#X
ABAL T 5:(f01)22-#8 (FH2)X-#X
{BHER85E(1)48:8-8* 16
EIERE(2)H:8-T6X
EHRETE:

F 1 hR:(80+90)*2*380/10000=12.92 M2

B AE IR IO RR:
%:138:-(G30) 5
%:2i8:-(G30) 5

0*75/10000=0.38
0*75/10000=0.38

%5:3i2:-(B19) 45*70/10000=0.32
KL E/NE:1.07 M2

HEMRE AR RO BR:

%5:1i%:40.00*16/10000=0.0640
£8:2i%:80.00*16/10000=0.1280
2£:3i£:40.00*16/10000=0.0640
%:4i£:30.00*16/10000=0.0480
LLE/]vE1:0.3040 M2

RS E AR RO RR:

BIENE 1 (FHorEZE):=15%(10-0)/10000=0.02

EIENE 2(BE)--G30=15*(130-75)/10000=0.08

KL E/NET:0.10 M2
AR AR 12.92-[#F R HE]1.07-[#E R XX $%]0.30- [ #5 3 $£]0.10=11.45 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

AT EER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=83.600 M (83.600 M*3.980/1000= 0.3327 T)

SMAR/NET =0.5879 T

BRR/NVEH(EE) = 11.45 M2

EREL /NG =2.736 M3
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PNA21-01-t&[: 2F , #4X8F: C27, fiB B 5% 21 [X5:-75,Y14:-20] R~: 80 cm * 90 cm , & 380.0 cm

#10 EE(E1HE-—HBE): (380+0)*20/100 76.00
| 5 2 (Lo (5
[#&$=0])
#4 SMERS- L T h\E R B ()= (80+90)*2-8*4+2*13.89=335.8 53.72
[; L+ THEBIE= Int(((380-75)/2)/10.0)+1=16
+ FHEE K= 335.816/100=53.72 M
#4 SMERR- R y\E R EE (B )= (80+90)*2-8*4+2*13.89=335.8 36.94
[; o SRR EE= Int(((380-75)/2)/15.0)+1=11
bR iR R= 335.8*11/100=36.94 M
#4 S\ ERR- R SRR EE (A )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHBEHR-KTERE | XOKF)EREFRAL)= (80-2*[{RH#B]4+2*[135F & £7]13.9)
< (1G] *2=199.6 7
Y(EE)AREE(HBE)= (90-2*[{R#[B14+2*[135EE E£4]13.9)
*2=219.6
#4 B E T #4 - TiREE= Int(((380-75)/2)/10.0)+1=16 67.1
</ F Tk K= (199.6+219.6)*16/100=67.1 M
#4 BA-th g #4rh IR EIEL= Int(((380-75)/2)/15.0)+1=11 46.1
N th R iR = (199.6+219.6)*11/100=46.1 M
#4 Bi-BREE HAR B [E K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERTE:

EERETEGR1)16-#8 (FH2)X-#X
ARBTG5 ($01)20-410 (#82)X-#X
TEREAREE(1)40:10-8*16%
BEERE)M:10-T4%
EhREHE:
FHEHR:(80+90)*2*380/10000=12.92 M2
MR E RO
%:158:-(G27) 50*75/10000=0.38
%:2;:8:-(B19) 45*70/10000=0.32
%:35:8:-(G27) 50*75/10000=0.38
%:4i%:-(B20) 45*70/10000=0.32
LA E/NEE:1.38 M2

FERRE R RO RR:
%:1i£:40.00*16/10000=0.0640
%:2i£:30.00*16/10000=0.0480
%:3i£:40.00*16/10000=0.0640
%:4i£:30.00*16/10000=0.0480
Ll E/]NE1:0.2240 M2

S E R IO

E RS 1 (B E)-:B19=15%(380-70)/10000=0.47
E RIS 2(FRE)--B20=15%(380-70)/10000=0.47

LLE/VEH:0.93 M2

FERRAEET:12.92-[FEER 3T $£]1.38-[#F iR 32 $]0.22- [#1 15 38 4%]0.93=10.39 M2

RC:tH&E:

80*90*380/1000000= 2.736 M3
-------------- G R 0] ) —
Mt EER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)

$ARR/NET = 0.7408 T
BAR/NET(E) = 10.39 M2
Est /e =2.736 M3

PNA21-01-#&/8: 2F , #:4t5%: C28, RIEFR: 22 [X5:-75,Y16:-190] R~: 80 cm * 90 cm , 45 380.0 cm

#8 EH(FE1E-—KB):
EfF+HER(Lg) (1
[F#=0])

(380+0)*18/100

68.40
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#4

SMER- £ T i

SMEEE(F )= (80+90)*2-8*4+2+*13.89=335.8
L+ T H#EE= Int((380-75)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

53.72

#4

5\ RE(H )= (80+90)*2-8*4+2*13.89=335.8
h S 2R= Int(((380-75)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M

36.94

SR E(H )= (80+90)*2-8*4+2*13.89=335.8
(Int(75/10))*335.8/100=23.50 M

23.50

XOKTF)RRE(HR4E)= (80-2*[{REB]4+2*[135 €£44]13.9)
*2=199.6
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$7]13.9)
*2=219.6

#4

#4 &+ T i%E %= Int(((380-75)/2)/10.0)+1=16
LTk = (199.6+219.6)16/100=67.1 M

67.1

#4

#4th REEEIE= Int(((380-75)/2)/15.0)+1=11
th R 48 5 = (199.6+219.6)*11/100=46.1 M

46.1

#4

[
R
" U

#ARF B F=(199.6+219.6)*Int(75/10)/100= 29.34 M

29.3

falsRa®E:

R 1)16-#8 (FH2)X-#X
ABREH:(FE1)18-#8 (FH2)X-#X
BB 5E(1)48:8-8* 16
{BEBRE(2)#E:8-T2%

RhREtH:

F kR (80+90)*2*380/10000=12.92 M2

FERRE AR RO RR:

%:158:-(G27) 50*75/10000=0.38
55:2i%:-(B17) 45*70/10000=0.32
%5:3i%:-(G40) 50*70/10000=0.35
%5:4;2:-(B20) 45*70/10000=0.32
KL E/NET:1.36 M2

FERE BEAR AR O BR:

%5:1i£:40.00*16/10000=0.0640
£8:2i%:30.00*16/10000=0.0480
%:3i£:40.00*16/10000=0.0640
%5:4i%:30.00*16/10000=0.0480
Ll E/vET:0.2240 M2

RS E AR RO RR:

EIENE 1 (FHorEZE):=12%(35-0)/10000=0.04
EIENE 2(BE)--B17=15*(380-70)/10000=0.47
EIENE 3(F HorE Z2):=10%(20-0)/10000=0.02
EIENE 4(BE)--B20=15*(380-70)/10000=0.47
KL E/VET:0.99 M2
AR AEET:12.92-[#F 2R3 E]1.36-[#E kR XX $%]0.22-[#F 15 3 $£]0.99=10.35 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

MEET EER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMAR/INET = 0.5274 T

BRR/NEH(E) = 10.35 M2

EREL /NG =2.736 M3

PNA21-01-#&8: 2F , 45 8%%: C37, MIBEFFH%: 5 [X4:+222,Y17:+205] R~H (B H4): BE411 cm ERiE#E: 9990

cm2 , #5:380.0 cm

A2 R~:100.0 cm * 100.0 cm

#10

EH(E1HE-—RE):
EF+HE (L) (1R
[F&#=0])

(380+0)*20/100

76.00
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#4

SMER- £ T i

S (F )= (99.95077+99.95077)2-8+4+2*13.89=395.6
L+ T H#EE= Int((380-75)/2)/10.0)+1=16
TR = 395.6*16/100=63.29 M

63.29

#4

PME R FE (5 7)= (99.95077+99.95077)*2-8*4+2%13.89=395.6
o R BB = Int(((380-75)/2)/10.0)+1=16
R MR = 395.6°16/100=63.29 M

63.29

YL R FE(F /)= (99.95077+99.95077)*2-8*4+2%13.89=395.6
(Int(75/10))*395.6/100=27.69 M

27.69

XOKFE)ERE(HFAE)= (99.95077-2*[{R & B]4+2*[135FE 12
$4]13.9)*4=478.9
Y(EE)AKE(HH4E)= (99.95077-2 [{R#E [E]4+2*[135E &
$4]13.9)*2=239.5

#4

#4 & T I E 8= Int(((380-75)/2)/10.0)+1=16
L T8 E= (478.9+239.5)16/100=114.9 M

114.9

#4

#4th R IFE = Int(((380-75)/2)/10.0)+1=16
o R 48 K = (478.9+239.5)*16/100=114.9 M

114.9

#4

[
R
" U

HARF E M5 =(478.9+239.5)"Int(75/10)/100= 50.29 M

50.3

falsRa®E:

R (HR1)18-#8 (#A2)X-#X
ABHTH:(FE1)20-#10 ($H2)X-#X
B335 (1)48:10-8*18%

B E(2)#:10-T2%

RhREtH:

TR (B A4ER]411.3*380/10000=15.63 M2

FERGE AR AR ORR:

:158:-(B21) 50*75/10000=0.38
KL E/NVET:0.38 M2

FERRE BEAR RO BR:

£5:1i8:132.00*16/10000=0.2112
2:2i%:40.00*16/10000=0.0640
£5:3i£:90.00*16/10000=0.1440
LLE/MET:0.4192 M2

RS E AR RO PR
1 (RE
B2 (MU
IR 3 (MU
EEREA(RE

S0=20*
S0=20*
S0=20*
S0=10*

KL E/NET:2.23 M2
B hR RS 15.63-[#F 23 15]0.38-[#E R XX $%]0.42-[#E 5 3 $£]2.23=12.61 M2

RCEH&E:

380-16)/10000=0.73
380-16)/10000=0.73
380-16)/10000=0.73
60-16)/10000=0.04

[B B #%: &/ F&]9990.2*380/1000000=3.796 M3

-------------- FHE RN
MR AR

#4=434.450 M (434.450 M*0.994/1000= 0.4318 T)
#10=76.000 M (76.000 M*6.390/1000= 0.4856 T)

MAR/NET =0.9175 T

R/ (E) = 12.61 M2

EREL/NE =3.796 M3

PNA21-01-#88: 2F , ¥ {85 C38, (I8 FE8E: 58 [X14:-239,Y6:+229] R~H(E H4%): iBE374 cm EiEHE: 8364

cm2 , #5:380.0 cm

BHEATZR~:91.5¢cm *91.5cm

U

#8 EH(E1HE-—RE): (380+0)*18/100 68.40
| T H+EE(Lg) (%
[##£=0])
SRS £ T SMEERE(F )= (91.45491+91.45491)*2-8*4+2*13.89=361.6 | 57.86

L+ THEBEIE= Int(((380-75)/2)/10.0)+1=16
+ TiE#ER= 361.6*16/100=57.86 M
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#4 SHME - R SMERE(H )= (91.45491+91.45491)*2-8*4+2*13.89=361.6 | 39.78
@ rh G B8= Int(((380-75)/2)/15.0)+1=11
R EER= 361.6*11/100=39.78 M
#4 MR- SR E ()= (91.45491+91.45491)*2-8*4+2*13.89=361.6 | 25.31
B (Int(75/10))*361.6/100=25.31 M
BHBEHGR-KFERE | XOKF)AREFRE)= (91.45491-2 [(REB4+2*[135EE
<7 EM $0]13.9)*4=444.9
Y(ZEE)ARE(FH )= (91.45491-2 (R & B4+2*[135E &
$1]13.9)*2=222.5
#4 B - LT #4_E T B $= Int(((380-75)/2)/10.0)+1=16 106.8
</ E TR R= (444.9+222.5)*16/100=106.8 M
#4 BE-PRin #4rh R B EE= Int(((380-75)/2)/15.0)+1=11 734
</ Qi R = (444.9+222.5)*11/100=73.4 M
#4 BH-REE #HABR B B R =(444.9+222 5)*Int(75/10)/100= 46.72 M 46.7
fEESTE:

EBREH:(E1)18-#8 (FH2)X-#X
AREFEEFH:(FE1)18-#8 ($H2)X-#X
BIE28 5 (1)40:8-8"18%
BhRET &
AR (B B4EEE]374.2*380/10000=14.22 M2
PR E AR MO RR:
%:138:-(B31) 50*60/10000=0.30
%:2;8:-(G44) 50*75/10000=0.38
Ll _E/NET:0.68 M2
FERRE BEAR MR 0 B
%:25%:85.10*16/10000=0.1362
%£:338:40.00*16/10000=0.0640
%£:458:30.00*16/10000=0.0480
Ll E/NEF0.2482 M2
NS E AR R OB
1 (B orEZ):=15%(10-0)/10000=0.02
(MR )-:S4=15%(10-10)/10000=0.00
Ll E/NEF:0.02 M2
*Em%rfgﬁn4.22-[*11%’&?&]0.68-{&#&&?&]0.25-[&%1%3??%]0.0%1 3.28 M2
RCE&E:
(B Fa 48 75]8364.0*380/1000000=3.178 M3
-------------- EIE- 1 W —
AR Et B R
#4=349.865 M (349.865 M*0.994/1000= 0.3478 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)
MR/ =0.6200 T
BAR/NET(E) = 13.28 M2
BB/t =3.178 M3

PNA21-01-4£J8: 2F , 4485 C39, 1B FaE: 59 [X14:-175,Y7:+107] R~T (B f4¥): sBE361 cm BREE: 7827

cm2 , ¥5: 380.0 cm
E# H T2 R~:88.5cm * 88.5 cm

#8 T W (E1HR-—AEB): (380+0)*16/100 60.80
T+ EE(Lg) (B
[##=0])

#4 SMER-L T ik SR E(H )= (88.47034+88.47034)*2-8*4+2*13.89=349.7 | 55.95

L+ THEREZL= Int(((380-75)/2)/10.0)+1=16
L+ TiE#ER= 349.7*16/100=55.95 M

Jete

i #- SR E ()= (88.47034+88.47034)*2-8*4+2*13.89=349.7 38.46

=
g
S

FRRfERE K= 349.7*11/100=38.46 M

SMER-RE SR E(HT2)= (88.47034+88.47034)*2-8*4+2*13.89=349.7 24.48
(Int(75/10))*349.7/100=24.48 M

#4

#4
@ th e FE B = Int(((380-75)/2)/15.0)+1=11
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BHEHRREKTEME | XOKF)MEE(FHRIE)= (88.47034-2 [{REE4+2*[135E &
<7 EE $4]13.9)*4=433.0
Y(EE)AREFHRIL)= (88.47034-2*[{R#E B4 +2*[135E &
$]13.9)*2=216.5
#4 BH-LETim #4 T IREIE= Int(((380-75)/2)/10.0)+1=16 103.9
<7 L Fin#E K= (433.0+216.5)*16/100=103.9 M
#4 B f5-rh R i #4rh RLIREBE= Int(((380-75)/2)/15.0)+1=11 71.4
<7 R iFHER = (433.0+216.5)*11/100=71.4 M
#4 EH-REE HAR B {8 K =(433.0+216.5)*Int(75/10)/100= 45.47 M 455
BEHRHE:

EEETH:(HR1)16-#8 (FH2)X#X
RERTE:(HE1)16-48 (FA2)X-#X
1EIE285E(1)58:8-8*16%%
RS E:
F AR [E B4E:EK]360.8+380/10000=13.71 M2
AR E AR IO
%:13%:-(B31) 50*60/10000=0.30
%:2i%:-(G45) 50*75/10000=0.38
LI E/NET:0.68 M2
FERRE R AR IO RR:
%:15%:62.40*16/10000=0.0998
%:45%:30.00*16/10000=0.0480
LLE/NET:0.1478 M2
RS E R AR IO RR:
1 (MR )-:S4=15%(10-10)/10000=0.00
-2 (R K )-:G45=15%(10-10)/10000=0.00
LI E/NEF:0.00 M2
$§Hl%rﬂ&§+:13.71-[$IF§=’§?§]0.68-[*1#&&?%]0.15-[&;!%3??%]0.00:12.89 M2
RCEtHE:
(B B4t 8 E#%]7827.0*380/1000000=2.974 M3
-------------- EgC R 1 ]|\ R——
T EER:
#4=339.718 M (339.718 M*0.994/1000= 0.3377 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
MER/INET = 05797 T
BAR/NET(E) = 12.89 M2
EgEL /e =2.974 M3

PNA21-01-#£&: 2F , #£C8%: C11, (1B FH%: 28 [X6:-95,Y9:-110] R~F: 80 cm * 90 cm , #&: 380.0 cm

#10 EH(E14E-—ARE): (380+0)*16/100 60.80
| I+ (Lg) (B
[#&#£=0])
#4 5\ A5 - £ T i s\E R B ()= (80+90)*2-8*4+2*13.89=335.8 53.72
g L+ THEBIE= Int(((380-75)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 HME - R SRR B ()= (80+90)*2-8*4+2*13.89=335.8 36.94
g o SRR E8= Int(((380-75)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 SME - SMERE(H )= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEBEHRER-KTER,E | XOKE)AEEGRIE)= (80-2*[{REE]14+2*[135E & £7]13.9)
<7 (1G] *2=199.6 7
Y(EE)EREE(HB)= (90-2*[{R#[B14+2*[135EE £ £4]13.9)
*2=219.6
#4 BA5-E T % #4 + TiREBE= Int(((380-75)/2)/10.0)+1=16 67.1
</ ETiR#ER= (199.6+219.6)*16/100=67.1 M
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#4 BH-rh i #4th R IHE = Int(((380-75)/2)/15.0)+1=11 461
<7 R 48 K = (199.6+219.6)*11/100=46.1 M
#4 BE-BEE HAREEE=(199.6+219.6)Int(75/10)/100= 29.34 M 29.3
fBEETE:

LRERTH:(HE1)16-#10 (FH2)X-#X
AEAEH:($1)16-#10 ($H2)X-#X
HEHESREE(1)#0:10-10"163

BhREHH:

F 1% hfr:(80+90)*2*380/10000=12.92 M2

HEEERAR MO

%:15%:-(G10) 50*60/10000=0.30
%:25%:-(G20) 50*75/10000=0.38
%:35%:-(G28) 50*75/10000=0.38
%:45%:-(B15) 45*70/10000=0.32
LLE/NE:1.37 M2

HEMRE AR R 0 PR:

%:15%:40.00*16/10000=0.0640
%:25%:30.00*16/10000=0.0480
%5:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LLE/VET:0.2240 M2

RS E R AR M O PR

Ll _E/NEF:0.00 M2
WRRABET:12.92-[FE A $5]1.37-[#F hR 32 $10.22- [ 15 38 $%]0.00=11.33 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

Mt HiER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

$MER/INET =0.6436 T

BAR/NEH(E) = 11.33 M2
iR /NE =2.736 M3

PNA21-01-#£&: 2F , #£ (B E)8%: C10, fiBFEE: 27 [X6:-10,Y8:+45] EFR: 90 cm , 4 5: 380.0 cm

#10 FHh(E1HR-—REB): (380+0)*16/100 60.80
| T+ (L) (%
[##=0])
#4 sMER- £ T i SV R EE(BEIfiS)= (90-4*2)*3.1416+2*48*1.27=379.5 60.72
g E THEEE= Int(((380-75)/2)/10.0)+1=16
L+ TiE#ER= 379.516/100=60.72 M
#4 SME - R SV R EE(BEIfiS)= (90-4*2)*3.1416+2*48*1.27=379.5 41.75
g rh J 45 B 4= Int(((380-75)/2)/15.0)+1=11
R fEiE K= 379.511/100=41.75 M
#4 SMER- B SV R B2 (BEIfiS)= (90-4*2)*3.1416+2*48*1.27=379.5 26.57
g (Int(75/10))*379.5/100=26.57 M
BHEBEHFR-RCHE(E) X(KE)EEE(BER )= (90-2*4+2[1#]*1.27* 5 £4]6)*2=194.5
<7 Y(EHE)E R E(BERH)= (90-2*4+2[8#]*1.27 5 $1]6)*2=194.5
#4 BH- LT #4_ b T iHE 8= Int(((380-75)/2)/10.0)+1=16 62.2
<7 ETin#ER= (194.5+194.5)*16/100=62.2 M
#4 R M- R IR #4rh RIFEBL= Int(((380-75)/2)/15.0)+1=11 42.8
<7 rh R iGHER = (194.5+194.5)*11/100=42.8 M
#4 BhHh-BERE HARF BB R =(194.5+194.5)*Int(75/10)/100= 27.23 M 27.2

BERAIE

LEMEEH:(RE1)16-#10 ($H2)X-#X
AEFEH:(H1)16-#10 ($H2)X-#X
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TEIERE(1)4:10-10"16%
BhRETE:

AR (B2 4E):(90*3.1416)*380/10000=10.74 M2

FEARE AR MO RR:
%:13%:-(G9) 50*75/10000=0.38
%5:2i%:-(G16) 50*75/10000=0.38
%:3i%:-(G10) 50*60/10000=0.30
%5:4i%:-(B7) 45*70/10000=0.32
L E/INET:1.37 M2

FERRE AR M A0 BR:
%:1i%:40.00*16/10000=0.0640
%:2i%:40.00*16/10000=0.0640
%:3i%:40.00*16/10000=0.0640
%:4%:40.00*16/10000=0.0640
L E/INET:0.2560 M2

AR E AR R IO RR:
LL_E/VEF:0.00 M2
Eﬁgrfﬁg?m 0.74-[#F#R 3 $E]1.37-[#E i 38 $£]0.26-[#F 1% 32 $£]0.00=9.12 M2
RCEH&E:
Efs4%: (90/2)22*3.1416*380/1000000= 2.417 M3
-------------- EIRCE -1 1 s ——
st EHER:

#4=261.287 M (261.287 M*0.994/1000= 0.2597 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)

MRR/NET =0.6482 T

BAR/NVET(E) =9.12 M2

SR NET = 2.417 M3

PNA21-01-4&8: 2F , 41X 88 C26, (B FFEE: 18 [X5:-75,Y10:+220] R~t: 80 cm * 90 cm , 4 5: 380.0 cm

#10 ER(E1HR-—ABE): (380+0)*18/100 68.40
| R (Lo (B
[#B#£=0])
#4 SNERS- £ T SNEEE(HT)= (80+90)*2-8*4+2%13.89=335.8 53.72
g L+ FHEE = Int(((380-75)/2)/10.0)+1=16
T E= 335.8*16/100=53.72 M
#4 S5 fR-t R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 36.94
g rh G B8= Int(((380-75)/2)/15.0)+1=11
R R = 335.8*11/100=36.94 M
#4 S5 f5- R SR E(H )= (80+90)*2-8*4+2%13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHERR-KER,E X(KE)RRE(AFE)= (80-2*[{Ri&B14+2*[135F & £4]13.9)
< B *2=199.6 )
Y(EE)RRE ()= (90-2*[{REE]14+2*[135E & §7]13.9)
*2=219.6
#4 V- T i #4 - T i EBh= Int(((380-75)/2)/10.0)+1=16 67.1
</ L TR E= (199.6+219.6)*16/100=67.1 M
#4 B -rh S i #4th SR E 8= Int(((380-75)/2)/15.0)+1=11 46.1
<7 thdif e = (199.6+219.6)*11/100=46.1 M
#4 BE-BREE HAR B [EHE=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
FERTE

LR (H1)18#8 (#2)XHX
REHEEE(41)18-#10 (HI2)X-HX
BRI E(1)#8:10-8*18%
BhARETE:
F 12 hR:(80+90)*2*380/10000=12.92 M2
AR E AR RO RR:
:158:-(G25) 50*75/10000=0.38
%038 :-(B17) 45*70/10000=0.32
%5:3i%:-(B18) 45*70/10000=0.32
LA E/NEE:1.01 M2
FERRE AR R A0 B
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% :1:%2:40.00*16/10000=0.0640
%:2i%:30.00%16/10000=0.0480
%:4i%:30.00%16/10000=0.0480
LL_E/VEH:0.1600 M2

FEHSE AR RO BR:

E RS 1 (B E)-:B18=15%(380-70)/10000=0.47
E RS 2(FRE)-:B17=15%(380-70)/10000=0.47
LA _E/NET:0.93 M2
PR ET:12.92-[#F#E 32 #]1.01-[#E iR 32 $£]0.16-[#E 45 32 $%]0.93=10.83 M2

RCEHE

80*90*380/1 000000=2.736 M3

-------------- EHE RN

et EER

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$ArR/INET = 0.6922 T

BAR/NEH(E) = 10.83 M2
RN = 2.736 M3

PNA21-01-#£f&: 2F , #EL55%: C22, (I &

FFik: 8 [X4:+45,Y10:+220] R~f: 80 cm * 90 cm , ¥ &: 380.0 cm

#10 ERF(E14-—HRE): (380+0)*16/100 60.80
| T H+EE(Lg)(HEHE
[#&#=0])
#4 SN RS- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THE = Int(((380-75)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8*11/100=36.94 M
#4 SMER-RE S\ R E(HF2)= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEBERER-KFER,E | XOKE)EEEGRIE)= (80-2*[{REB]14+2*[135E &4$7]13.9)
</ A *2=199.6 .
Y(EE)ERE(FHBAE)= (90-2* [{R#[B14+2*[135FE & £4]13.9)
*2=219.6
#4 V- ETim #4_F TR 8= Int(((380-75)/2)/10.0)+1=16 67.1
</ Lt TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R 8K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BESTE:

EBREH:(HE1)16-#8 (FH2)X-#X
ABEER:(FE1)16-#10 ($H2)X-#X
B (1)48:10-8*16%

BT E:

I #1R:(80+90)*2+380/10000=12.92 M2

FERRE R IR IORR:
%:158:-(G21) 50*75/10000=0.38
%:2;8:-(B18) 45*70/10000=0.32
Ll _E/NEF:0.69 M2

FERRE AR R IIRR:
%5:1;%:40.00*16/10000=0.0640
%5:23%:30.00*16/10000=0.0480
%5:43%:80.00*16/10000=0.1280

LLE/VET:0.2400 M2
RS EERAR MR O PR
EEE 1 (RE)-
G 2(hRE)-
IS 3(hRE)-
EEEE 4R E)-
LLE/NER2.10 M2

vvvv

:B18=15%(380-70)/10000=0.47
:S1=15%(380-16)/10000=0.55
:CS=15%(380-16)/10000=0.55
:CS=15%(380-16)/10000=0.55
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RhRHEET:12.92-[A BR 32 H£]0.69-[4: hin 32 $]0.24- [#E i 32 $%]2.10=9.89 M2

RC:tH&E:
80*90*380/1000000= 2.736 M3

et EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=60.800 M (60.800 M*6.390/1000= 0.3885 T)
$AER/INET =0.6436 T
EAR/NVEH(E) = 9.89 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 2F , #:4t5%: C34, RIEF5R: 34 [X6:-90,Y17:-125] R~F: 90 cm * 80 cm , 45 380.0 cm

#10 F (5 14R-—HEB): (380+0)*18/100 68.40
| g (Lo) (B
[#&#%=0])
#4 SMER-L T ik 5\ (F5 %)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((380-70)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh 4 2R= Int(((380-70)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 SMER-RE SR E(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(70/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKFE)AEEFGRE)= (90-2*[{RERB4+2*[135E E$7]13.9)
</ EM[ *2=219.6 ]
Y(EE)AREHRHE)= (80-2[REB4+2*[135EE$7]13.9)
*2=199.6
#4 Bm-L T #4 £ T ixE 2= Int(((380-70)/2)/10.0)+1=16 67.1
</ L+ Fif#ER= (219.6+199.6)*16/100=67.1 M
#4 8- #4rh IR BIEL= Int(((380-70)/2)/15.0)+1=11 46.1
<7 th JifiE R = (219.6+199.6)*11/100=46.1 M
#4 Bm-RERE #ARF B FE=(219.6+199.6)*Int(70/10)/100= 29.34 M 29.3
EEHRTE:

FREBAEER:(HE1)18-#8 (#H2)X-#X
ABEER:(FE1)18-#10 ($H2)X-#X
1EHER8E(1)40:10-818%

BT E:

F 1% hr:(90+80)*2*380/10000=12.92 M2

HEEEAR RO

%:158:-(B28) 45*70/10000=0.32
:23%:-(G36) 60*60/10000=0.36
%:3;8:-(B28) 45*70/10000=0.32
Ll _E/NEF:0.99 M2

MR AR MR O PR

%:158:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:358:30.00*16/10000=0.0480
LL_E/VET:0.1600 M2

RS E AR R OPR:

IR 1 (KK )-:B28=15*(380-70)/10000=0.47
IR (BRIE )--G36=15*(380-60)/10000=0.48
I3 (KK )-:B28=15*(380-70)/10000=0.47
LAl E/NEE1.41 M2
R AEET:12.92-[#F 23 $£]0.99-[4E hiR 3 $£10.16-[4E 5 3 $£]1.41=10.36 M2

RC:tH&E:

90*80*380/1000000= 2.736 M3

M EER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
(

#10=68.400 M
$ARR/NET =0.6922 T

68.400 M*6.390/1000= 0.4371 T)
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BRR/NET(E) = 10.36 M2

RAE L /NET = 2.736 M3

PNA21-01-t£f&: 2F , #£K5%: C5, fEFF5k: 6 [X4:+65,Y8:+50] R~t: 80 cm * 90 cm, #&: 380.0 cm

#8 EHEE1HE-—RE): (380+0)*16/100 60.80
| g5+ 1 (Lo) (2
[#&#%=0])
#4 S RS- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
g  FHEEB= Int(((380-75)/2)/10.0)+1=16
tTFiE#EERE= 335.8416/100=53.72 M
#4 SMERR-Th R SR EE(H )= (80+90)*2-8*4+2+13.89=335.8 36.94
g rh R G B8= Int(((380-75)/2)/15.0)+1=11
S48 K= 335.8*11/100=36.94 M
#4 SMERR-RE SR E(H )= (80+90)*2-8*4+2+13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
EMEBERER-KFR,E | XOKE)MEEGRIE)= (80-2*[{RERB]4+2*[135EF &$7]13.9)
<7 B *2=199.6 .
Y(EE)AEE A= (90-2 [{R#B]4+2*[135E & $1]13.9)
*2=219.6
#4 Bi5- T #4 £ T iR B= Int(((380-75)/2)/10.0)+1=16 67.1
</ ETFig#EE= (199.6+219.6)*16/100=67.1 M
#4 - i #4 th RIHE BI= Int(((380-75)/2)/15.0)+1=11 46.1
<7 L% R = (199.6+219.6)*11/100=46.1 M
#4 BH-BREE #ABRZ E 1R =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BERIE:

EBA TS (4A1)16-#8 ($B2)X-#X
ABAETE:(181)16-#8 (M2)X-#X
B335 (1)58:8-8*16%%

EhRETE:

F42}k:(80+90)*2*380/10000=12.92 M2

HRGE AR RO RR:

%:158:-(b2) 35*60/10000=0.21

%:25%:-(B8) 45*60/10000=0.27
%:35%:-(G3) 50*75/10000=0.38
%:45%:-(G3) 50*75/10000=0.38
LLE/NVET:1.23 M2

FERRE BEAR AR O BR:

%:15%:55.00*16/10000=0.0880
%5:25%:30.00*16/10000=0.0480
%:35%:40.00*16/10000=0.0640
%:45%:30.00*16/10000=0.0480
LL_E/VET:0.2480 M2

FEHE AR RO RR:

B 1 (BRI )-:G3=15%(380-75)/10000=0.46
B2 (KK )-:B8=15%(380-60)/10000=0.48
LLE/NET:0.94 M2
AR AEET:12.92-[FE R H8]1.23-[#F iR 32 $10.25- [ 15 38 $%]0.94=10.50 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

SRSt AR
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

MER/INET =04971 T
BAR/INET(E) = 10.50 M2
R /NET = 2.736 M3

PNA21-01-#£8: 2F , #£4L5%: C25, LB 5%: 23 [X5:-85,Y17:+205] R~t: 125 cm * 70 cm , #/&: 380.0 cm
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#8 F (5 14R-—HEB): (380+0)*18/100 68.40
| T+ REE(Lg) (B
[#&#%=0])
#4 SV - £ T i SR E ()= (125+70)*2-8*4+2*13.89=385.8 61.72
g T = Int(((380-75)/2)/10.0)+1=16
F T K= 385.816/100=61.72 M
#4 SN - R SERE(H )= (125+70)*2-8*4+2*13.89=385.8 42.44
g rh S 2R= Int(((380-75)/2)/15.0)+1=11
th 5 e R = 385.8*11/100=42.44 M
#4 VAS il R 55 R EE ()= (125+70)*2-8*4+2*13.89=385.8 27.00
g (Int(75/10))*385.8/100=27.00 M
BHEHR-KERE | XOKF)RREGFBHE)= (125-2" REE4+2*[135E &)
<7 EM 13.9)*2=289.6 ]
Y(EE)ARE )= (70-2* R #EB]4+2*[135FE & $7]13.9)
*4=359.1
#4 B - LT #4_ TR 8= Int(((380-75)/2)/10.0)+1=16 103.8
</ E TR K= (289.6+359.1)*16/100=103.8 M
#4 BE-hRim #4rh IR EIEL= Int(((380-75)/2)/15.0)+1=11 71.4
<7 th Jifie R = (289.6+359.1)*11/100=71.4 M
#4 B-RERE #ABRF [EHE R =(289.6+359.1)*Int(75/10)/100= 45.41 M 45.4

RSt R:

EBAEERS(HR1)18-#8 ($B2)X-#X
ABHER:(H1)18-#8 (#A2)X-#X
EEBE(1)H.8-818%

BhRETE:

F 1% hr:(125+70)*2*380/10000=14.82 M2

HEEEAR MNP

%:158:-(G40) 50*70/10000=0.35
%:2:8:-(B21) 50*75/10000=0.38
Bl _E/NE0.73 M2

MR AR MR O PR

%:1i%:20.00*16/10000=0.0320
%5:352:70.00*16/10000=0.1120
%:4i%:40.00*16/10000=0.0640
LLE/NET:0.2080 M2

RS EERAR RO PR

IR (KR )--G40=15*(380-70)/10000=0.47
2R K )--S0=20%(380-16)/10000=0.73
I 3(MRE )-:S0=20%(380-16)/10000=0.73
LLE/INET:1.92 M2
AR ET:14.82-[FF 3 $£]0.73-[4E hR 3 $£10.21-[4E 5 3 $£]1.92=11.97 M2

RCEHE:

125*70*380/1000000= 3.325 M3

P EER:

#4=351.719 M (351.719 M*0.994/1000= 0.3496 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

MR /NET =0.6218 T

BAR/NVET(E) = 11.97 M2

iRAE L /NET = 3.325 M3

PNA21-01-1£f&: 2F , #£4K5%: C20, fIE 3% 56 [X13:+221,Y7:-66] R~t: 90 cm * 80 cm , #75: 380.0 cm

U

#8 ERH(BEE-—RE): (380+0)*20/100 76.00
| T+ R (Lo (B IS
0]
N iEf- L T in %?ﬁﬁg(ﬁﬁ?F (90+80)*2-8*4+2%13.89=335.8 53.72

+ THEREZ= Int(((380-75)/2)/10.0)+1=16
I FHEf K= 335.816/100=53.72 M
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#4 SMER-H R SR EE (5 72)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh G B8= Int(((380-75)/2)/15.0)+1=11
th R fE4E K= 335.8%11/100=36.94 M
#4 VAS il e sMERE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEHGR-KFERE | XOKF)AREFRE)= (90-2 [(RERB4+2*[135EF & £4]13.9)
<7 EM *2=219.6 ]
Y(EE)ARE )= (80-2 R EB]4+2*[135F & $7]13.9)
*2=199.6
#4 B - LT #4_E T B $= Int(((380-75)/2)/10.0)+1=16 67.1
</ Tk K= (219.6+199.6)*16/100=67.1 M
#4 BE-PRin #4rh R B EE= Int(((380-75)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE #ARZ B FE=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
fEESTE:

EEAEH(1)16-#8 (H2)X-#X
AT H:(181)20-#8 (FH2)X-#X
1B EE(1)40:8-8*16%
{EEBRE(2)#R:8-T4X
AR E:
FHHR:(90+80)*2*380/10000=12.92 M2
RSB
%:1i2:-(B13) 45*70/10000=0.32
%:2i8:-(G44) 50*75/10000=0.38
%:3i2:-(B14) 45*60/10000=0.27
%:4i2:-(G14) 50*75/10000=0.38
KL E/NET:1.34 M2
HERRE AR MR R
%:1i£:30.00*16/10000=0.0480
%:2i£:40.00*16/10000=0.0640
%:3i2:30.00*16/10000=0.0480
%:4i2:40.00*16/10000=0.0640
KL E/NET:0.2240 M2
FENEE AR kR A0 R
1 (K)-:B14=15%(380-60)/10000=0.48
i 2(FR K )-:B13=15%(380-70)/10000=0.47
KL E/NVET:0.95 M2
Eﬁl%r.fﬁgﬁnz.gz-[ffﬂéﬁﬁ?ﬁh 34-[#EhR 32 $£]0.22-[#E % X $£]0.95=10.42 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

st EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)
$MAR/NET =0.5576 T
R/ () = 10.42 M2
R /NG = 2.736 M3

PNA21-01-#£f&: 2F , #£L5%: C17, SIE F5%: 46 [X9:-144,Y7:+222] R~t:90 cm * 80 cm , #7&: 380.0 cm

#8 TH(EE-—RE): (380+0)*18/100 68.40
| FH+EiE(Lg)(HEHE
[B#=0])
#4 sMERS- £ T i S B (F7)= (90+80)*2-8*4+2+13.89=335.8 53.72
D L+ T #EEI#= Int(((380-75)/2)/10.0)+1=16
L T4 E= 335.816/100=53.72 M

R RG] 2= Int(((380-75)/2)/15.0)+1=11

#4 D SME - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
HP R fE#E K= 335.8*11/100=36.94 M
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#4 SRR SR ()= (90+80)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(H )= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 B Tk #4 & T 85 B 2= Int(((380-75)/2)/10.0)+1=16 67.1
<2 LT E= (219.6+199.6)*16/100=67.1 M
#4 B-rh R #Ath R 2= Int(((380-75)/2)/15.0)+1=11 46.1
<7 R 48 £ = (219.6+199.6)*11/100=46.1 M
#4 BEH-BEE HARFEHE=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
FEEHE

EEREH(R1)16-#8 (H2)X-#X
ABHIH:(HB1)18-#8 (fH2)X-#X
1B (1)40:8-8*16%
{EERE(2)#E:8- T2
EARETE:
FHHR:(90+80)*2*380/10000=12.92 M2
RSB
%:1i2:-(B11) 45*70/10000=0.32
%:2i2:-(G15) 50*75/10000=0.38
%:3i2:-(B12) 45*70/10000=0.32
%:4i2:-(G15) 50*75/10000=0.38
KL E/NVET:1.38 M2
HERRE AR MR R
%:1i£:30.00*16/10000=0.0480
%:2i£:40.00*16/10000=0.0640
%:3i2:30.00*16/10000=0.0480
%:4i2:40.00*16/10000=0.0640
KL E/NET:0.2240 M2
SRR

E %NS 1 (R K)-:B12=15%(380-70)/10000=0.47
E TS 2(K)-:B11=15%(380-70)/10000=0.47

KL E/NVET:0.93 M2

AR ET:12.92-[A BR 32 ]1.38- [T hin 32 $]0.22- [#E 1 32 $%£]0.93=10.39 M2

RCEtH&E:
90*80*380/1000000= 2.736 M3

MEET SR

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMAR/INET = 0.5274 T
BRR/NEH(E) = 10.39 M2
R /NG = 2.736 M3

PNA21-01-#28: 2F , #(K5%: C17, ERF:

52 [X11:+38,Y7:+78] R~f:90 cm * 80 cm , ¥ 5: 380.0 cm

#8 x Fh(E1HR-—REB): (380+0)*18/100 68.40
| T H+REE(Lg)(E %
[#E#=0))
#4 SV - £ T iR 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 53.72
@ £ THEEE= Int(((380-75)/2)/10.0)+1=16
£ TR K= 335.816/100=53.72 M
#4 HME - R S5 R EE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh SR 5B B8= Int(((380-75)/2)/15.0)+1=11
rh R §EHE R = 335.8*11/100=36.94 M
#4 SRR S5 R EE(H )= (90+80)*2-8*4+2*13.89=335.8 23.50
D (Int(75/10))*335.8/100=23.50 M
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EmEBERR-KER,E XOKFE)ERE(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(HHAE)= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 BE- Tk #4 & T 85 B 2= Int(((380-75)/2)/10.0)+1=16 67.1
<2 T8 E= (219.6+199.6)*16/100=67.1 M
#4 B-rh i #4rh R IHE = Int(((380-75)/2)/15.0)+1=11 46.1
<7 R 48 K = (219.6+199.6)*11/100=46.1 M
#4 BE-BEE HARFEHE=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
FEEHE

R 1)16-#8 (FH2)X-#X
ABREH:(FE1)18-#8 (FH2)X-#X
BR85S (1)48:8-8* 16
{BEERE(2)#E:8- T2

RhREt H:

F 1 hR:(90+80)*2*380/10000=12.92 M2

FERRE AR AR O FR:

%:152:-(B11) 45*70/10000=0.32
5:2i%:-(G14) 50*75/10000=0.38
%5:3i%:-(B12) 45*70/10000=0.32
%:42:-(G15) 50*75/10000=0.38
KL E/NET:1.38 M2

FERRE BEAR RO BR:

%5:1i£:30.00*16/10000=0.0480
2:2i%:40.00*16/10000=0.0640
£5:3i£:30.00*16/10000=0.0480
%5:4i%:40.00*16/10000=0.0640
LLE/vET:0.2240 M2

FEHSE AR RO BR:

EIENS 1 (B E)--B11=15*(380-70)/10000=0.47
EIENE 2(E)--B12=15*(380-70)/10000=0.47
KL E/NVET:0.93 M2
AR RS 12.92-[#F R 3 E]1.38-[#E kR XX $%]0.22-[#F 153 $£]0.93=10.39 M2

RCEH&E:

90*80*380/1000000= 2.736 M3

AT SR

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

SMAR/INET = 0.5274 T

BRR/NEH(E) = 10.39 M2

EREL /NG =2.736 M3

PNA21-01-#&/8: 2F , #4t5%: C21, B F3k:

54 [X12:-67,Y8:-41] R~F:90 cm * 80 cm , #5: 380.0 cm

#8 ER(E14-—HRE): (380+0)*20/100 76.00
| T+ (L) (B
[#&#=0])
#4 S\ AS- £ T i SR EE ()= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THEEE= Int(((380-65)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME -t R S\ B (H4)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-65)/2)/15.0)+1=11
o R iERE R = 335.8*11/100=36.94 M
#4 SMER-BRE 5\ RE(FHF2)= (90+80)*2-8*4+2*13.89=335.8 20.15
@ (Int(65/10))*335.8/100=20.15 M
EHmEBERER-KFER,E XOKFE)ERE(HHAE)= (90-2*[{R#EB]4+2*[135E & $4]13.9)
<2 ER *2=219.6 ]
Y(EE)EKE(HR4E)= (80-2*[{R#B]14+2*[135EE E4$4]13.9)
*2=199.6
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#4 85-ETim #4 F T inEE= Int(((380-65)/2)/10.0)+1=16 67.1

<7 £ TixiER= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh RiH B B = Int(((380-65)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE HAR B EHE R =(219.6+199.6)*Int(65/10)/100= 25.15 M 25.1
fEEsTE:

EEAEH(R1)16-#8 (H2)X-#X
AR (H1)20-#8 ($2)X-#X
1B (1)70:8-8*16%%
{EERE(2)#E:8-T4X
EARETE:
FHHR:(90+80)*2*380/10000=12.92 M2
SRR
%:1i2:-(B14) 45*60/10000=0.27
%:2i2:-(G17) 50*65/10000=0.33
%:3i2:-(CB14) 45*60/10000=0.27
%:4i2:-(G17) 50*65/10000=0.33
KL E/NEH1.19 M2
HERRE AR MR R
%:1i£:30.00*16/10000=0.0480
%5:2i£:40.00*16/10000=0.0640
%:3i2:30.00*16/10000=0.0480
%:4i2:40.00*16/10000=0.0640
L E/NET:0.2240 M2
S AR
N1 (S orBZE):=15%(10-0)/10000=0.02
i 2(FRE)-:G17=15*(10-10)/10000=0.00
KL E/NVET:0.02 M2
*EHJ%F.%E%A 2.92-[#E R HE.19-[FE IR 3T $£]0.22-[#E 5 32 $£]0.02=11.49 M2
RCEH&E:
90*80*380/1000000= 2.736 M3

T EER:
#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=76.000 M (76.000 M*3.980/1000= 0.3025 T)
$HEH/NET = 0.5501 T
BRR/NVEH(EE) = 11.49 M2
iEgEE/NET =2.736 M3

PNA21-01-t&E: 2F , 31X 5% C16, L& F R 51 [X11:4166,Y6:-146] R~: 90 cm * 80 cm , 2 5: 380.0 cm

#8 EH(E14A-—ARRE): (380+0)*16/100 60.80
| T +REE(Lg) (%
[#E#=0])
#4 SMER- £ T i 5\ (F5 %)= (90+80)*2-8%4+2*13.89=335.8 53.72
E; L+ THEEIE= Int(((380-75)/2)/10.0)+1=16
£ M K= 335.816/100=53.72 M
#4 SN - R 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 36.94
E; rh SR 5B B8= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8%11/100=36.94 M
#4 sMER- B 5\ (5 2)= (90+80)*2-8%4+2*13.89=335.8 23.50
E; (Int(75/10))*335.8/100=23.50 M
BHEHER-KTERE | XOKFE)RREFRE)= (90-2*[{RERE]4+2*[135E E]13.9)
< A *2=219.6 .
Y(EE)ERE(H )= (80-2*[{FHEB14+2* 135 €£45]13.9)
*2=199.6
#4 Bi5- LT #4 & T imB 8= Int(((380-75)/2)/10.0)+1=16 67.1
< L TimfER= (219.6+199.6)*16/100=67.1 M
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#4 B H-th R #4th R IHE = Int(((380-75)/2)/15.0)+1=11 46.1
<7 R 48 K = (219.6+199.6)*11/100=46.1 M
#4 Bi5-BREE HARF EHE=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
tBERaTE:

EBAEEE(HR1)16-#8 (JH2)X-#X
AREHER:(HE1)16-#8 (FH2)X-#X
B RE(1)1H:8-816%
BhRET &
F48HR:(90+80)*2*380/10000=12.92 M2
PR E AR MO RR:
%:1;:%:-(G11) 50*75/10000=0.38
%:2;%:-(B11) 45*70/10000=0.32
25:3i8:-(G12) 50*75/10000=0.38
LLE/NET1.07 M2
FERRE AR MR 0 B
25:13%:80.00*16/10000=0.1280
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
LL_E/VE:0.3040 M2
RS E AR M0 R
1 (FRE)-:B11=15*(380-70)/10000=0.47
T2 (3 B orEZ2):=15%(10-0)/10000=0.02
I3 (3 BorEZE):=15%(120-0)/10000=0.18
B 4 (MK )-:S3=10%(10-10)/10000=0.00
Ll _E/NET:0.66 M2
$§H@rﬁ§§+:12.92-{$ﬁ%’§¥§]1 07-[#E kR 33 $%]0.30-[#F 1% 32 $%]0.66=10.89 M2
RCEHE:
90*80*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SAER/INET =04971 T
ARG () = 10.89 M2
iR /NE =2.736 M3

PNA21-01-#£&: 2F , #£488%: C19, fiEB F 55 55 [X12:-151,Y5:+210] R~: 90 cm * 80 cm , & 380.0 cm

#8 FHh(E1HR-—REB): (380+0)*16/100 60.80
| EH+HEE(Lg)(JEE
[#E#=0))
#4 sMER- £ T i SV R EE (B )= (90+80)*2-8*4+2*13.89=335.8 53.72
g E THEEE= Int(((380-75)/2)/10.0)+1=16
L+ TiEfER= 335.8*16/100=53.72 M
#4 SMERR-h R SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 36.94
g rh J 45 B 2= Int(((380-75)/2)/15.0)+1=11
rhRfE#E K= 335.8*11/100=36.94 M
#4 HNERR-RE SV R EE(H5)= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEHR-KERE | XOKP)AEEF )= (90-2*[{RERE]4+2*[135F E4$7]13.9)
<7 B[ *2=219.6 ]
Y(EE)EREE(HB)= (80-2*[{R#[B14+2*[135 £ £4]13.9)
*2=199.6
#4 B5- LT #4_F T B 8= Int(((380-75)/2)/10.0)+1=16 67.1
</ E TR R= (219.6+199.6)*16/100=67.1 M
#4 M- R IR #A4TH R 5EE B0= Int(((380-75)/2)/15.0)+1=11 46.1
<7 hRiERER = (219.6+199.6)*11/100=46.1 M
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#4 BE-REE HARFEME=(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3

EEGIE
EBAEER(HR1)16-#8 (FB2)X-#X
AREHETH:(H1)16-#8 (FH2)X-#X
B RE(1)1H:8-816%

BRRETE:

F48HR:(90+80)*2*380/10000=12.92 M2
FERE R MR IORR:
%:15%:-(B13) 45*70/10000=0.32
%:2:%:-(G11) 50*75/10000=0.38
Ll _E/NET:0.69 M2
FERRE AR M A0 B
25:3i8:30.00*16/10000=0.0480
25:43%:40.00*16/10000=0.0640
LU E/NEF0.1120 M2
FENE E AR M A0 B
I 1(FRE)-:B13=15%(380-70)/10000=0.47
T2 ( BorEZ2):=15%(120-0)/10000=0.18
3 (MUK )-:S3=10%(10-10)/10000=0.00
LL_E/NET:0.65 M2
ﬁm%rﬁé?r:12.92-[*17@3?$§]0.69-[$HJ§3*¢?§]0.1 1[4 32$£]0.65=11.47 M2

RCEE:

90*80*380/1000000= 2.736 M3

At EHER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)
SMER/INET =04971 T
BAR/NVET(E) = 11.47 M2
iR /INE =2.736 M3

PNA21-01-#&&: 2F , #5185 C16, fIEB 5% 45 [X9:-17,Y6:-2] R~F: 90 cm * 80 cm , ¥ & 380.0 cm

#8 EH(E14-—ARE): (380+0)*16/100 60.80
| FEHH+EE(Lg)(1EE
[#E#=0))
#4 SVEfR- £ T i h\E R B ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEBIE= Int(((380-75)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 SMERR-h R SV R EE (B )= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR EE= Int(((380-75)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 HNERR-RE SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHERRE-KFER,E | XOKF)AREEFRIE)= (90-2* [{RERE]4+2*135E E£]13.9)
</ Em[ *2=219.6 ]
Y(EE)EREE(H)= (80-2*[{R#[B14+2*[135FE E£4]13.9)
*2=199.6
#4 BH5-E T % #4 T iREE= Int(((380-75)/2)/10.0)+1=16 67.1
</ ETiR#ER= (219.6+199.6)*16/100=67.1 M
#4 BEh-p R #4rh RIHEIBL= Int(((380-75)/2)/15.0)+1=11 46.1
<2 th R iR = (219.6+199.6)*11/100=46.1 M
#4 BmH-RERE HAR B [ K =(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3
BERIE

EERI:(B1)16-#8 (fH2)X-#X
AR EH:(H1)16-48 (#2)X-#X
TR (1)%8:8-8* 16

ERRETE:
FHHR:(90+80)*2*380/10000=12.92 M2
HARE SRR
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% 152:-(G12) 50*75/10000=0.38
%:2;8:-(B11) 45*70/10000=0.32
LA _E/NET:0.69 M2

FERRE R RR IO
%:2i%£:40.00*16/10000=0.0640
%:3i£:30.00*16/10000=0.0480
%:4i£:90.00*16/10000=0.1440
Ll E/NEH:0.2560 M2

S E R IO
E RS 1 (MR E)-:CS1=15*(120-25)/10000=0.14
E RS2 (FRE)-:B11=15*(380-70)/10000=0.47
ERERE:3(F SorE ZE):=15%(10-0)/10000=0.02

LA E/NET:0.62 M2

RRARAEET:12.92- (A BR 3 £]0.69-[#1 kit 32 $%£]0.26-[#E 1 32 $£]0.62=11.35 M2

RC:tH&E:

90*80*380/1000000= 2.736 M3
-------------- R R 0] ) —
Mt ERER

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=60.800 M (60.800 M*3.980/1000= 0.2420 T)

$ARR/INET =04971 T
BAR/MEH(E) = 11.35 M2
R /NET = 2.736 M3

PNA21-01-#&/8: 2F , #£1X5%: C4, fIBF5E: 7 [X4:+45,Y9:-110] R~F: 80 cm * 90 cm , #£5: 380.0 cm

#10 ERF(E14-—HRE): (380+0)*18/100 68.40
| T Hr -+ (Lg)(HEHE
[#&#£=0])
#4 S\ RS- £ T i SR EE ()= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THEE = Int(((380-75)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R 5\ RE(FHH2)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-75)/2)/15.0)+1=11
R fERE R = 335.8*11/100=36.94 M
#4 SMER-RE SR E ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEBERER-KFER,E | XOKE)EEEGRI)= (80-2*[{RERB]4+2*[135E &4$7]13.9)
< [EAR *2=199.6 ]
Y(EE)ERE(HHBAE)= (90-2* [{R#[B14+2*[135FE £ £4]13.9)
*2=219.6
#4 Y- ETiE #4_F TR 8= Int(((380-75)/2)/10.0)+1=16 67.1
</ Lt TFig#E K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R [E 8K =(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BESTE:

FEBAEEH:HE1)16-#10 ($B2)X-#X

ABEER:(FE1)18-#10 ($H2)X-#X

RS (1)48:10-10"16%

EHERE(2)#:10-T2%

BARETE:

F 12 hR:(80+90)*2*380/10000=12.92 M2

BRI OB
%:152:-(B16) 45*70/10000=0.32
5:2i%:-(G21) 50*75/10000=0.38
L E/NET:0.69 M2

FE MBI AR R IO BR:
5£:2%:30.00*16/10000=0.0480
%:3i8:40.00*16/10000=0.0640
%£:45%:80.00*16/10000=0.1280
L E/NET:0.2400 M2
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S EEM IR
EHEEE:1(FE SorE ZE):=15%(120-0)/10000=0.18
E RS 2(FRE)-:B16=15%(380-70)/10000=0.47
E I 3(RUE)-:CS=15*(380-16)/10000=0.55
E S 4(kRUE)-:CS=15%*(380-16)/10000=0.55
LLE/NET:1.74 M2
*EH%&EZ?M2.92-[&*%2&?%]0.69-[&#& X $£]0.24-[#E 153 $%£]1.74=10.25 M2
RCEH&E:
80*90*380/1000000= 2.736 M3
-------------- FHEHRN -
T EER:
#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
AR/ = 06922 T
ERR/INETH(E) = 10.25 M2
BB /NG =2.736 M3

PNA21-01-#&8: 2F , $:1R5%: C8, fiE FHR: 16 [X5:+145,Y8:+50] R~f: 80 cm * 90 cm , 45 380.0 cm

#8 ERF(E14-—HRE): (380+0)*18/100 68.40
| T H -+ (L) (M
[#&#=0])
#4 S\ RS- £ T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ L+ THE = Int(((380-75)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R SR E ()= (80+90)*2-8*4+2*13.89=335.8 36.94
@ R EE 2= Int(((380-75)/2)/15.0)+1=11
R iERE R = 335.811/100=36.94 M
#4 SMER-RE SR E ()= (80+90)*2-8*4+2*13.89=335.8 23.50
@ (Int(75/10))*335.8/100=23.50 M
BHEBERER-KFER,E | XOKE)MREEGRIE)= (80-2*[{REEB]14+2*[135E &4$7]13.9)
</ (=G *2=199.6
Y(EE)ERE(FBAE)= (90-2* [{R#[B14+2*[135FE & £4]13.9)
*2=219.6
#4 BH5-E T #4_F T B 8= Int(((380-75)/2)/10.0)+1=16 67.1
</ Lt TFigiE K= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh RIFEIEL= Int(((380-75)/2)/15.0)+1=11 46.1
<7 PR iR = (199.6+219.6)*11/100=46.1 M
#4 BH-BERE HAR R [ K=(199.6+219.6)*Int(75/10)/100= 29.34 M 29.3
BESTE:

EEHEEG(R1)16-#8 (H2)X-#X

AR EH:(FR1)18-#8 (FH2)X#X

BI85 (1)40:8-8*16%%

BEREQ)ME:S-T2X

ERETE:

F #R:(80+90)*2*380/10000=12.92 M2

R EEEMR R
%:138:-(G7) 50*75/10000=0.38
%:2;%:-(B7) 45*70/10000=0.32
%:318:-(B8) 45*60/10000=0.27
Ll E/NEH:0.96 M2

RS SRR
%:138:40.00*16/10000=0.0640
%:2%:30.00*16/10000=0.0480
%:43%:30.00*16/10000=0.0480
Ll /VEH:0.1600 M2

M SRR
TE 1 (BRE)-:B7=12%(35-35)/10000=0.00
FEHERE2(FRE )-:CS0=15*(380-20)/10000=0.54
MEHENE:3(12K)-:B8=15*(380-60)/10000=0.48
Ll E/IEH1.02 M2

AR FEET:12.92-[FE R X $£]0.96-[#F iR 32 $%10.16-[4E 15 38 $%]1.02=10.78 M2
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RC:ETE:

80*90*380/1000000= 2.736 M3

Mt EAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#8=68.400 M (68.400 M*3.980/1000= 0.2722 T)

$ARR/INET = 05274 T

BAR/NET(E) = 10.78 M2

RAEL/NET = 2.736 M3

PNA21-01-18&: 2F , #HK5%: C31, fEFk:

33 [X6:-95,Y16:-190] R~t: 80 cm * 90 cm , #&: 380.0 cm

#10 EH(E1E-—RE): (380+0)*22/100 83.60
| T B (Lo) (EE
& 2-0))
#5 NEfR- £ T im %fﬁﬁfi(jﬁﬁ?ﬁ (80+90)*2-8*4+2%13.89=335.8 53.72
g T EEE= Int(((380-75)/2)/10.0)+1=16
+ TiE#E K= 335.8*16/100=53.72 M
#4 SRAR-h R SERE(HH)= (80+90)*2-8*4+2%13.89=335.8 36.94
g th sk BB B = Int(((380-75)/2)/15.0)+1=11
h i K= 335.8¥11/100=36.94 M
#5 S AR-BR SNERE(H#)= (80+90)*2-8*4+2*13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
RHEEEEATAE | XOKT)REESIAL)- (802 [REMEA+2 135 HE]17.7)
<7 | Em *2=214.6 ]
VB REE ST (002 [RHEEI+271 35 EHE17.7)
*2=234.6
#5 855- g #5_E T imEE= Int(((380-75)/2)/10.0)+1=16 71.9
N— T E= (214.6+234.6)16/100=71.9 M
#5 Bk #5501 RSB B= Int(((380-75)/2)/15.0)+1=11 49.4
< R E = (214.6+234.6)*11/100=49.4 M
#5 BEY-REE H5BR B S =(214.6+234.6)Int(75/10)/100= 31.45 M 314
FEENE

EBA TS (481)16-#8 ($B2)X-#X
AR5 (481)22-#10 ($A2)X-#X

1EHEER5E(1)40:10-8*1

63

B E(2)#:10-T*6X

RhREtH:

F4KR:(80+90)*2*380/10000=12.92 M2

HEREEAR RO

%:132:-(G30) 50*75/10000=0.38
55:2i%:-(G33) 60*60/10000=0.36
%5:3i2:-(B28) 45*70/10000=0.32
5:4;2:-(B17) 45*70/10000=0.32
KL E/NVET:1.37 M2

HEMRE AR RO BR:

%5:1i£:40.00*16/10000=0.0640
25:2i%:30.00*16/10000=0.0480
25:3i£:40.00*16/10000=0.0640
%:4i£:30.00*16/10000=0.0480

KL E/NET:0.224
RS E AR AR A0 B

0 M2

EIENE 1 (B E)--G33=15*(380-60)/10000=0.48
EIENE 2(BE)--G30=15*(10-10)/10000=0.00
EIENE 3(HE)--B28=15*(380-70)/10000=0.47
KL E/NVET:0.95 M2
AR AEET:12.92-[#F R 3R] 37-[#E kR XX $5]0.22-[#F 15 3 $£]0.95=10.39 M2

RCEH&E:

80*90*380/1000000= 2.736 M3

MEET EER:

#4=36.936 M (36.936 M*0.994/1000= 0.0367 T)
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#5=229.978 M (229.978 M*1.560/1000= 0.3588 T)
#10=83.600 M (83.600 M*6.390/1000= 0.5342 T)

$ARR/INET =0.9207 T

HBRR/NET(E) = 10.39 M2

SRR /NET = 2.736 M3

PNA21-01-#8f&: 2F , #£{85%: C33, & 5% 36 [X7:-15,Y16:-185] R~f: 90 cm * 80 cm , 4£5: 380.0 cm

#10 FH(FE14R-—HRE): (380+0)*18/100 68.40
| g (Lo (B
[#&#%=0])
#4 SV Ef5- £ T i SRR EE (5 T2)= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEEI = Int(((380-80)/2)/10.0)+1=16
T K= 335.8%16/100=53.72 M
#4 SME - R S\45 K BE (%)= (90+80)*2-8*4+2*13.89=335.8 36.94
g o R EEEBR= Int(((380-80)/2)/15.0)+1=11
th R fERE R = 335.8*11/100=36.94 M
#4 SMERR-RE SV R BE (%)= (90+80)*2-8*4+2*13.89=335.8 26.86
g (Int(80/10))*335.8/100=26.86 M
EMEBERR-KFR,E | XOKFE)MEEGRIE)= (90-2*[{RERB]4+2*[135EF &$7]13.9)
<2 (4G *2=219.6 )
Y(EE)RRE ()= (80-2*[{REE]14+2*[135E & §7]13.9)
*2=199.6
#4 - F TR #4_F TR E 8= Int(((380-80)/2)/10.0)+1=16 67.1
< E Tk K= (219.6+199.6)*16/100=67.1 M
#4 B& 7 -th R b #4rh IR B E= Int(((380-80)/2)/15.0)+1=11 46.1
<7 PR = (219.6+199.6)*11/100=46.1 M
#4 BH-BRERE HAR B EHEK=(219.6+199.6)*Int(80/10)/100= 33.53 M 33.5
BERTE:

LR T (H1)18#8 (2)XHX
REHEEE(11)18#10 (HI2)X-HX
BHE235E(1)%8:10-8%18%
Rt E:
F 12 hR:(90+80)*2*380/10000=12.92 M2

HERGE AR RO RR:

%:138:-(G32) 50*80/10000=0.40
%:28:-(B22) 45*70/10000=0.32
%:3:%:-(G33) 60*60/10000=0.36

LLE/VET:1.08 M2

FERRE AR AR O BR:
%5:25%:40.00*16/10000=0.0640
%5:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.1760 M2

FEHE AR RO PR:
EEE:1(FSorE %E):=15*(10-0)/10000=0.02
E R 2(BRE)-:G33=15%(380-60)/10000=0.48
LLE/VE:0.50 M2

AR E:12.92-[#F 23 #5]1.08-[#E MR XX $%]0.18-[#E 45 3 $£]0.50=11.17 M2

RCEH&E:
90*80*380/1000000= 2.736 M3

At EHER:
#4=264.217 M (264.217 M*0.994/1000= 0.2626 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)
MAR/INET = 06997 T
BAR/NVEH(E) = 11.17 M2
R /NET = 2.736 M3

PNA21-01-#£f8: 2F , #£4L5%: C35, fLEFF5%: 38 [X7:-15,Y18:-45] R~F: 90 cm * 80 cm , #£&: 380.0 cm
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#10 F (5 14R-—HEB): (380+0)*18/100 68.40
| T H+EE(Lg)(HEHE
[#&#%=0])
#4 SV - £ T i 5\ (F %)= (90+80)*2-8%4+2*13.89=335.8 53.72
g T S= Int(((380-75)/2)/10.0)+1=16
F T K= 335.816/100=53.72 M
#4 SME - R SR E(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
g h I 2R= Int(((380-75)/2)/15.0)+1=11
th e K= 335.8*11/100=36.94 M
#4 VAS il R 55 R BE ()= (90+80)*2-8*4+2%13.89=335.8 23.50
g (Int(75/10))*335.8/100=23.50 M
BHEFER-KTERE | XOKE)AEEFGRIE)= (90-2*[{RERB]14+2*[135EF E$7]13.9)
</ [EE *2=219.6 ]
Y(EE)ERE(FBE)= (80-2* [{R#[B14+2*[135F £ £4]13.9)
*2=199.6
#4 Bip-LTim #4 £ T inE 2= Int(((380-75)/2)/10.0)+1=16 67.1
</ TR R= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh IR EIEL= Int(((380-75)/2)/15.0)+1=11 46.1
</ th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BE-BREE HARZ ERE R =(219.6+199.6)*Int(75/10)/100= 29.34 M 29.3

RSt R:

FRBAEEH(H1)16-410 ($2)X-#X
#H2

ABHEERH:(FR1)18-#10 (

)X-#X

BERE(1)#E:10-10*16%
BB E(2)4:10-T2%

BhREHH:

F 1 hfr:(90+80)*2*380/10000=12.92 M2

HRGE AR AR ORR:

%:158:-(B23) 45*70/10000=0.32
%:25%:-(G38) 50*75/10000=0.38
%:35%:-(G39) 60*60/10000=0.36
LLE/NVET:1.05 M2

FERE BEAR AR O BR:

%:15%:30.00*16/10000=0.0480
%5:25%:40.00*16/10000=0.0640
%:35%:80.00*16/10000=0.1280
%:45%:40.00*16/10000=0.0640
LL_E/VET:0.3040 M2

FEHEE AR RO RR:

B 1(FRE)-:B23=15%(380-70)/10000=0.47
B2 (MK )-:CS=15*(380-16)/10000=0.55
B3 (MK )-:CS=15*(380-16)/10000=0.55
LL_E/NE:1.56 M2
AR AEET:12.92-[FE R 3 $5]1.05-[#F iR 32 $10.30- [ 15 38 $%]1.56=10.01 M2

RCEtH&E:

90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6922 T

BAR/NVET(E) = 10.01 M2

B /e =2.736 M3

PNA21-01-#£&: 2F , #£X8%: C34, fiB F8E: 37 [X7:-15,Y17:-165] R~f: 90 cm * 80 cm , 4£5: 380.0 cm

#10

EH(E1HE-—RE):
EE+ (L) (1EHE
[##E=0])

(380+0)*18/100

68.40
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#4 SMER- £ T i

SR (F )= (90+80)*2-8*4+2*13.89=335.8
L+ T H#EE= Int((380-75)/2)/10.0)+1=16
T MR = 335.816/100=53.72 M

53.72

#4

SR E(H )= (90+80)*2-8*4+2*13.89=335.8
h S 2R= Int(((380-75)/2)/15.0)+1=11
R iERE R = 335.8*11/100=36.94 M

36.94

SR E(H )= (90+80)*2-8*4+2*13.89=335.8
(Int(75/10))*335.8/100=23.50 M

23.50

XOKTF)RRE(H )= (90-2*[{RE B14+2*[135 ££44]13.9)

*2=219.6

Y(EE)AREHRE)= (80-2[REE4+2*[135EE$7]13.9)

*2=199.6

#4

#4 & T I E 8= Int(((380-75)/2)/10.0)+1=16
L T8 E= (219.6+199.6)16/100=67.1 M

67.1

#4

#4th REEEIE= Int(((380-75)/2)/15.0)+1=11
th R 48 5 = (219.6+199.6)*11/100=46.1 M

46.1

#4

[
R
" U

HARFERE=(219.6+199.6)*Int(75/10)/100= 29.34 M

29.3

fBEETE:

EBHER:(11)18-4#8 (#A2)X-#X
ABH I (41)18-#10 (4H2)X-#X
LS E(1)4:10-818%
BhRET &
F48HR:(90+80)*2*380/10000=12.92 M2
PR E AR MO RR:
%5:1i%:-(B22) 45*70/10000=0.32
2:2i8:-(G35) 50*75/10000=0.38
%5:3i%:-(B23) 45*70/10000=0.32
%5:438:-(G36) 60*60/10000=0.36
Ll E/NEH1.37 M2

FE MBS R OB
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:40.00*16/10000=0.0640
L E/NEF0.2240 M2

RS E AR R O B

EiEfE:1(E)-:B23=15%(380-70)/10000=0.47
E iR 2(BE)-:B22=15*(380-70)/10000=0.47

LLE/VET:0.93 M2

AR AEET:12.92-[FE R 18 ]1.37-[#F iR 32 $10.22- [ 15 38$%]0.93=10.40 M2

RCEH&E:
90*80*380/1000000= 2.736 M3

MAnEt HAER:

#4=256.668 M (256.668 M*0.994/1000= 0.2551 T)
#10=68.400 M (68.400 M*6.390/1000= 0.4371 T)

$MER/INET =0.6922 T
BAR/INET(E) = 10.40 M2
R /NGt = 2.736 M3

Page 52/52



